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Thursday, October 15, 2015
--- On commencing at 9:29 a.m.

MR. MILLAR:  Good morning.  Why don't we get started?

This is the technical conference in EB-2015-0200, an application by Union Gas Limited.  My name is Michael Millar.  I'm counsel for Board Staff.  Joining me today is Khalil Viraney.  Why don't we start with appearances, and you, Mr. Smith?
Appearances:


MR. SMITH:  Mr. Smith, Crawford Smith from Torys, counsel for Union Gas, and with me is Karen Hockin from Union Gas.

MR. MILLAR:  Mark?

MR. GARNER:  Mark Garner, consultant with VECC.

MR. QUINN:  Dwayne Quinn on behalf of FRPO.

MR. YAUCH:  Brady Yauch on behalf of Energy Probe.

DR. HIGGIN:  Roger Higgin for Energy Probe.

MS. ALEXANDER:  Eden Alexander...

MR. MILLAR:  I think the mic is not on.  Turn it off and turn it on again.

MS. ALEXANDER:  Eden Alexander, Canadian Manufacturers & Exporters.

MR. RUBENSTEIN:  Mark Rubenstein, counsel for the School Energy Coalition.

MR. YARDLEY:  Dan Yardley, consultant with Alberta Northeast Gas.

MR. CARMICHAEL:  Jim Carmichael, Alberta Northeast Gas.

MS. BAZINET:  Audrey Bazinet, Gaz Métro.

MS. LEMAY:  Isabelle Lemay, Gaz Métro.

MR. MILLAR:  On the phone, Mr. Wolnik, are you there?

MR. WOLNIK:  Yes.  John Wolnik with APPrO.

MR. MILLAR:  And is there anyone else joining us by phone?

MS. CHATTERJEE:  Jaya Chatterjee, City of Kitchener.

MR. MILLAR:  Anyone else?  Okay, thank you.

Does anyone have any preliminary matters before we get started?  Okay.

Mr. Smith, I will turn it over to you.  Perhaps you could introduce your panel.

MR. SMITH:  Thank you, Mr. Millar.  Let me just tell you what our intention is today.  We have two panels.  So this is the first of Union's two panels.  As people will know from having reviewed the evidence, this is not a leave-to-construct application under section 90 or 91 of the Act, but just so that people can orient themselves in their questioning, it may be -- this may be helpful.

Speaking sort of in loose terms, panel 1 is here to speak, generally speaking, to need type of issues and economics and rates.  And panel 2 will be talking about cost and facility design at a -- sort of using those terms broadly.

So this is the first panel.  From closest to me, we have Mike Sloan of ICF, Dave Lamoureux, Jim Redford, Greg Tetreault, Amy Mikhalia, and Dave Hockin.

And I have no examination for them, so I would propose to turn it over for questioning.

MR. MILLAR:  Thank you, Mr. Smith.

Mr. Wolnik, you had agreed to go first.  But as you have just heard, there are actually two panels.  Are your questions actually for panel 1?

MR. WOLNIK:  I think they're probably more for panel 2.

MR. MILLAR:  Okay.  Now, I know you had some time constraints for today, and you were hoping to finish before lunch; is that right?

MR. WOLNIK:  If possible.  I may be able to -- I have to get to another appointment, so I may be able to do it later on, depending upon timing.

MR. MILLAR:  Okay.  Well, we will struggle through here as best we can.  Do you have any questions for panel 1?

MR. WOLNIK:  I don't think so.

MR. MILLAR:  Okay.  I am just looking down the line.  Mr. Garner, Mr. Quinn, any questions for panel 1?

MR. QUINN:  Frankly, Mr. Millar, I hadn't organized it that way, so I am looking through, trying to figure out which are for which panel, so I would like to defer for the moment anyway.

MR. MILLAR:  Okay.  Does anyone want to volunteer that they do have questions for panel 1 right now while others are looking through their notes?  Yes, please, go ahead.
UNION GAS LIMITED - PANEL 1, ICF

Mike Sloan

Dave Lamoureux

Jim Redford

Greg Tetreault
Amy Mikhalia

Dave Hockin
Examination by Mr. Yardley:

MR. YARDLEY:  Thanks.  Dan Yardley again.

MR. MILLAR:  Your microphones are connected, so when one turns his off, they both go off.  Try again.

MR. YARDLEY:  Yeah.  Dan Yardley again.  Just some questions kind of follow up on the discovery.  We certainly appreciate the responses you provided to us and to the other parties.

I think the questions that we have in terms of potential follow-up are maybe some additional detail.  We're wondering if it is available or not related to a few of the questions.

Perhaps if you could look at ANE 14.  This relates to one of the areas of the application that we're trying to better understand, which is the reallocation of indirect costs.  And this request was looking at when this might have occurred in the past with respect to other cases or other applications, capital projects.  We were looking for two things.  One was how much -- or what the level of reallocation of indirect costs might have occurred in the past and also what the rate impacts were of those reallocations.

And in terms of looking at this response, I think you provided information related to the reallocations, but not necessarily the rate impacts of the reallocation in the past.  I am wondering if that is something that could be provided.

MS. MIKHAILA:  You're looking specifically for just the rate impact of the reallocation of the indirect costs?

MR. YARDLEY:  Yes.  If we were to take these revenue requirement reallocations that you provided, what would that be in terms of a rate impact?  And making some simplifying assumptions would certainly be fine in terms of calculating that, not running a whole complicated rate model, but whatever assumptions you think you would need.

MS. MIKHAILA:  Making each project specific?

MR. YARDLEY:  Yes, actually.

MS. MIKHAILA:  Individually?

MR. YARDLEY:  Yes.

MR. SMITH:  We can do that.

MR. MILLAR:  The undertaking will be JT1.1.
UNDERTAKING NO. JT1.1:  TO PROVIDE THE RATE IMPACT OF THE REALLOCATION OF THE INDIRECT COSTS.

MR. YARDLEY:  And then on the next request, ANE 15.  So in this request, we were referring to one of the schedules in the application, and we were interested in being able to review some of the calculations that went into some of the numbers in that schedule.

And you provided a spreadsheet back.  The spreadsheet did not have very many calculations in it, although we're able to understand most of the spreadsheet.  There is a couple of lines in here that are important to one of the issues that we're looking at, which we're also looking at the impact in terms of reallocation of -- or allocation of the tax benefits of the investment.

So on this schedule, there's some numbers that we're interested in understanding better how they're generated, and those have to do with the tax impacts, in particular, on line 4.  So we just have inputs in terms of the spreadsheet you provided, and a little bit better understanding of how those numbers were calculated would be helpful if it is possible to provide that.

MR. HOCKIN:  If you're referring to line 4, that is the tax deductibility of interest during construction.  I'm not sure what you are looking for.  The interest during construction is deductible for tax, and that is the amount that is applicable in the time period referenced in each of those columns.

MR. YARDLEY:  Okay.  And that particular tax on that line 4 is 100 percent associated with a capital investment of the project?  Could you answer that as a yes or no?

MR. HOCKIN:  Yes.

MR. YARDLEY:  All right.  And in the -- when you had your rate plan, your five-year rate plan, and putting that together, are the tax benefits of investments, are they allocated to different services, or are they basically associated with the direct rate base that might be associated with in-franchise customers or ex-franchise customers or different schedules?

MS. MIKHAILA:  All income taxes are allocated to rate classes based on rate base.

MR. YARDLEY:  Okay.  Thank you.

Could I turn you to ANE 6 -- actually, don't bother going there because that just refers to Probe 14.

MR. SMITH:  Would you like us to go to Energy Probe 14, then?

MR. YARDLEY:  Yes, sorry.  If you could go to Energy Probe 14, in ANE 6, we had requested information related to the portion of the project that was replacement versus growth.  You had provided an analysis in response to Energy Probe 14 -- and I will state up front you didn't necessarily agree with the analysis, but you provided the analysis -- and the analysis looked at the incremental -- kind of the economics of the incremental piece of it, assuming a certain portion of it was replacement.

In our request, we had asked for some work papers and so on, and, again, I have a question about how numbers were generated.  I can follow quite a bit of it, but there is one piece of it, which is the taxes again.  And either -- perhaps you could provide some follow up information, if possible, or you could explain.

In attachment 2 of Energy Probe 14, if we just look in the first couple of columns, if you look at the income tax line, again I don't recall -- when I tried to compare these numbers sort of looking at the total project, and I didn't see a relationship necessarily.  So if there is an explanation as to how the income taxes were derived or some follow-up on this -- I would have expected it might have been like a ratio, but I don't think it was of the total project costs.  If there was some additional calculation, I am wondering if that can be explained.

MR. HOCKIN:  I think it is probably better that I give you an undertaking for that calculation.  There is a calculation in one of our earlier ones -- I think ANE 2, 3 or 4, or something of that nature -- where the tax calculation is shown directly for the figures as filed.  And what we've done is we've prorated some of the dollars in Energy Probe 14, in accordance with the schedule that is attached to that.  But for simplicity and for clarity, I will provide an undertaking that describes the calculation of income tax for that section.

MR. YARDLEY:  Thank you.

MR. MILLAR:  JT1.2.
UNDERTAKING NO. JT1.2:  TO DESCRIBE THE CALCULATION OF INCOME TAX

MR. YARDLEY:  Then one last question in relation to ANE 11.  
In this request, we were looking for some backup for one of the schedules in the application, and you provided us with a spreadsheet.  In terms of the spreadsheet, there weren't that many -- there wasn't much additional information in the spreadsheet.  It had the numbers in it, but not really any supporting calculations in terms of how to get to the numbers.

And again, having spent a little time with that, we understand many of the numbers.  But there is a couple that we can't independently understand how they're put together.  So I will just let you know those were, again, the income tax line, 8 and 9.  So some of this may be related to some of the information you're already providing.  But I want to make sure that, as you're providing that, you might be able to provide one set of information that gets to all of this.  But, again, we're interested in some backup in terms of how those income tax numbers are actually generated.  What are the inputs?  Again, we're focused on just how the dollars flow.

MS. MIKHAILA:  Are you specifically interested in -- can I just clarify?  Are you specifically interested in line 10 of Schedule 1, the calculation of total income taxes by 2016, 2017, and 2018 of the project?

MR. YARDLEY:  Yes, which is the sum of two different components, 8 and 9, yes.

MS. MIKHAILA:  Okay.

MR. YARDLEY:  Those are the two lines, 8 and 9.

MS. MIKHAILA:  We can provide backup for those calculations.

MR. YARDLEY:  Thank you.  Again, I appreciate all of the information provided, working with us a little bit more to try to understand.  Since we haven't been through your rate calculations, we may not be as intimately as familiar as other people.  We appreciate your willingness to provide some additional information.  Thank you.

MR. MILLAR:  I did hear that was an undertaking?

MR. SMITH:  Yes.

MR. MILLAR:  JT1.3, and I understood it to provide additional detail with respect to line 10 of -- I forget.

MR. SMITH:  Schedule 1 of Exhibit A, Tab 10.

MR. MILLAR:  Thank you.

MR. YARDLEY:  I would clarify it would be lines 8 through 10.  Thank you.
UNDERTAKING NO. JT1.3:  TO PROVIDE THE ADDITIONAL DETAIL WITH RESPECT TO LINES 8 THROUGH 10 OF SCHEDULE 1 OF EXHIBIT 1, TAB 10

MR. MILLAR:  Thank you very much, Mr. Yardley.  Who would like to go next for panel 1?

DR. HIGGIN:  I can go with some questions.

MR. MILLAR:  Dr. Higgin.
Examination by Mr. Quinn:


MR. QUINN:  If I may, this would help me organize my questions.  Could I ask to try to differentiate between need and facility design?  Mr. Smith, you said the first panel was going to address need, and the second was going to be addressing facility design.  Is the need based upon only contractual need, or how do we differentiate the questions between physical need and contractual need?

MR. SMITH:  I guess my question is:  What do you mean by contractual need?  Help me out, Mr. Quinn.

MR. QUINN:  I'm assuming contractual need based upon the panel, but I don't know.  You said economics, rates, and need of the project.  Obviously, the need of the project boils down, in large part, to facility design.  How do we differentiate -- what is this panel 1 addressing in terms of need?

MR. SMITH:  Well, as you will be familiar from the application, there are contract demands, and those contract demands drive the facilities.  
So if you have questions about the contract demands, I think you should address those questions to this panel.

MR. QUINN:  And deferring the facility needs to the second panel is implicit.  But the contract demands, that would include, like, the term up provision, I take it?

MR. SMITH:  Yes.

MR. QUINN:  Okay.  Thank you, Dr. Higgin.  I was just wanting to differentiate my questions better.

DR. HIGGIN:  Are you ready to go then, or would you like a few minutes?

MR. QUINN:  I would like a few minutes; I'm still trying to wade through my questions here.
Examination by Dr. Higgin:

DR. HIGGIN:  So I will start with a couple of capacity demand questions.  So if we could turn up Exhibit A, tab 8, schedule 3, that may sort of help us as a bit of a roadmap here.

And can we look at the Schedule 3, please?  That is what I am looking for, the demands and so on.  It is Exhibit A, tab 8, Schedule 3.  There we are.  This is the -- I call it as the roadmap, volumes and demands.

Okay.  So just a couple of follow-up questions:  So looking at the right-hand side, these are the total demands for 2017 and 2018, and the first question is about the surplus.

And the question is:  Who bears the cost consequences for that surplus in 2018?  How are those costs allocated, and who bears those cost consequences?

MS. MIKHAILA:  The cost consequences of the project are allocated based on the project demands only.  So the entire project is borne by the incremental project demands.

DR. HIGGIN:  Yes.  But we see the demand is right there, right, 359 for the obligation, da, da, da, da.  We see all the volume -- the demand there.

This is on -- seems to me on top of the demand, this 30,000 gJs per day of surplus.  Am I wrong?

MR. REDFORD:  I can try to answer that.  I think the details around that is more of a question for panel 2.  But the surplus would result from the incremental demands, the incremental facilities, as well as the existing demands and existing facilities.  So it would be borne out of that calculation.

DR. HIGGIN:  So I am still asking who is going to bear the cost consequences.  Is it the in-franchise ratepayers?  Is it the M12 plus ex-franchise?  Who is going to be responsible for those cost consequences of that 30,000 gJs?

MR. TETREAULT:  So, Dr. Higgin, this project -- and I think some of this is best addressed with panel 2, but this project is moving us from a small shortfall position to a small surplus position, as you are noting.  I think the numbers are roughly negative 60,000 to positive 30, if I recall correctly.

DR. HIGGIN:  Correct.

MR. TETREAULT:  So the way I would answer this is to say that the fact we're moving to a surplus is associated with the facilities of this project.  So all of the costs associated with the facilities of the project will be recovered from ratepayers as we are proposing to do here.

DR. HIGGIN:  Okay.  So the second question, the follow-up which you would expect is Union indicates in its evidence that it is going to market this surplus.  What happens to the costs -- the revenues, sorry, from the marketing of that surplus or any other surplus that may arise?

MR. TETREAULT:  So if we are able to market the surplus between the time the facilities are in-service and, let's say, rebasing, 14 months, that would be transmission revenue, of course.  So it would form part of -- it would be utility revenue and would form part of utility earnings and, therefore, be subject to the earnings sharing mechanism as part of IRM.

DR. HIGGIN:  Thank you.  So the fact is, then, that any revenue generated will go to utility earnings, and depending on how the IRM ESM works, as you have just said, the IRM ESM ratepayers may or may not get some of that revenue.  Correct?

MR. TETREAULT:  That's correct.

MR. REDFORD:  Our first step to market that would be in the 2018 open season, which will happen this fall.

DR. HIGGIN:  Correct.

MR. REDFORD:  So that capacity could be -- it could be spoken for in that open season.

DR. HIGGIN:  Right.  So thank you for that.  I'm looking at the other little box here on the right-hand side of the chart that says "Dawn-Kirkwall Turnback."  Okay?  You see that one?  29,556 gJs; correct?  Right?

So then if we look at your chart here in Figure 5.2, which talks about this -- that is Figure 5.2 in the evidence.

MR. SMITH:  Exhibit A, tab 5, page 10 of 15, Mr. Higgin?

DR. HIGGIN:  Yes, that's correct.  Tab 5, and I think Figure 5.2 is, as you said, Mr. Smith.

MR. TETREAULT:  We have it.

DR. HIGGIN:  So okay.  Maybe you can just outline what this graphic shows, particularly for the forecast period and the basis of that forecast.  That would be helpful.

MR. REDFORD:  So this graph shows contracted M12 Dawn to Kirkwall capacity up until the thick black line, which would be into November 1 of 2017.  Those represent actual numbers.  Beyond that, they would be a forecast of our expectations for folks holding Dawn-Kirkwall capacity.

I think, on the next page, in table 5-1, our expectations of who will hold capacity as of November 1 of 2017 is -- is laid out in table 5-1.

DR. HIGGIN:  So just relate that to the surplus number, if you could, for us, the 29,556 -- not the surplus, sorry, the turnback number that's in the chart that we started from, the 29,556 gJs.

MR. REDFORD:  Yes.  So I will take this at a high level.  It is probably a better question for Dan Wallace on the next panel.

But the -- our expectations of the turnback are reflected in that bar in Schedule 3 for the Dawn-Kirkwall turnback at 29,556.  It doesn't necessarily equal the amount of Dawn-Kirkwall turnback because this is put in terms of deliveries at Parkway.

So there is a difference in capacity to Parkway when Dawn-Kirkwall capacity is turned back.  It is not a one-for-one relationship.

And beyond that, I think Dan will need to help you.

DR. HIGGIN:  So in terms of asking a couple of questions on table 5-1, that would be the next panel -- you would recommend I put those to the next...

MR. REDFORD:  Well, I think, in terms of the forecast, I can answer that.

DR. HIGGIN:  Okay.

MR. REDFORD:  In terms of how it relates to Dawn-Parkway capacity, though, I think it is better to refer to Dan Wallace.

DR. HIGGIN:  Right.  So the question really is looking at table 5-1.  If we could pull that up, please, for people, the table, please, not the figure, the table 5-1.

MR. SMITH:  Page 11 of 15.

DR. HIGGIN:  Yes, page 11.  Thank you.  It just follows the graph.  There we are.

So these are your forecasts.  And I assume, going back to the graphic, this is -- up to the black line is the forecast as of 2017.  Just orient us in this volume where that relates to the graphic we have just discussed.

MR. REDFORD:  Yes.  So the red -- on figure 5.2, the red bars in the table would represent forecast volumes.

DR. HIGGIN:  Right.

MR. REDFORD:  The blue bars would represent actual capacity held.  In terms of the table, the difference between November 16 and November 17, as we have assumed that Consolidated Edison would turn back capacity of about 32 TJs a day, which is why the last blue bar and the first red bar are different.

When you get out to 2019, the reason that that bar is less than the 2017 and 2018 bars would be we would assume, at that point, TransCanada would not hold further capacity Dawn to Kirkwall.

DR. HIGGIN:  That was my question, if it was going to come to.  Looking at this chart, I was going to question about the renewal for TransCanada, given everything else they're building around.

So is that one of those that you don't expect in 2018 to have renewed; that is, the 59,778 gJs per day?  Is that --


MR. REDFORD:  That's correct.

DR. HIGGIN:  -- confirmed?  Now, I assume that Thorold is a fairly long-term thing, a 29-year of August 29.  But Enbridge, of course, one wouldn't expect them to turn back when they have asked for incremental capacity; correct?

MR. REDFORD:  Yes.  Our expectation is that they will continue to hold those contracts.  That is our forecast based on discussions with Enbridge.

DR. HIGGIN:  So now I am coming back again, because I'm trying to understand the 29,556 number and its derivation.  Okay?

How do I find out where that is -- how that is calculated?  Where is that number?

MR. REDFORD:  For sure, you have run outside my expertise, so that is definitely a better question for Dan Wallace.

DR. HIGGIN:  All right.  So I will reserve that piece of it then, and I can move on to my next area.

MR. SMITH:  Sorry, Dr. Higgin.  Why don't I just tell people now so that they know who is going to be on panel 2, if it is of some assistance to the extent people have familiarity with these individuals.

Panel 2 will have Michelle George, Dan Wallace, and Dave Lamoureux will be on panel 2 as well.

DR. HIGGIN:  Right.  Okay.  So my next area -- what I'm trying to understand -- hopefully Mr. Tetreault and others can help me.  I'm trying to understand from the evidence the Dawn station revenue requirement and how it is allocated.  That is what I am trying to understand -- not the piece that'd for the Dawn to Parkway piece.  I think I have got that finally in my head, but I'm still struggling with understanding the Dawn station revenue requirement.

So could we start with a historic number that you have asked people to look at, and I did look at it in evidence?  That would be in -- let me see now, and I'll just give you the reference.  It was in the 2010 case, and basically -- I will find that reference.  Just give me one minute to find the reference for you.

MR. SMITH:  Sorry, is there a reference, Dr. Higgin, that you want us to turn up in this case?

DR. HIGGIN:  Well, what I'm trying to do is to understand what was the approved revenue requirement for the Dawn station, and then I am trying to track it through and find out what that is in 2018.  That is what I am trying to achieve here.

So the last approved was the schedule -- either the Schedule G3, tab 2, Schedule 12.  That's in the EB-2011-2010 case.  That is the evidence.  But there was an amendment to that -- that was in one of the undertakings, I believe -- that modified that a little bit.

But, anyway, what I would like to understand is, by perhaps an undertaking, what that revenue requirement was approved in 2010 and how that revenue requirement has changed because of the other projects that we've seen and how that will relate to the number that I think is what I should be looking at, which is in Exhibit A, tab 10, Schedule 2 of this filing.  So let's just look at that one, and see if I've got it right.

If you look at the second part of this, which are columns C, D, and E, am I right that this shows the Dawn station revenue requirement as of the date of 2018?  Am I correct about that and how it is allocated?

MS. MIKHAILA:  Columns C, D, and E of this schedule show the allocation to Dawn station transmission of the 2017 Dawn to Parkway project only.

DR. HIGGIN:  That's what I thought.

So what I am trying to find out is what is the Dawn station revenue requirement, as it is going from the approved in 2010 to 2018 for the Dawn station, and then how is that allocated to the various services used from Dawn, including in-franchise.

So maybe by an undertaking you could track that through for me and provide me a schedule, because that would certainly help me understand that piece of it.  As you know, that is allocated differently than the Dawn to Parkway portion, which is based on easterly demands and so on.

MR. TETREAULT:  That's correct, Dr. Higgin.  I think the cost study you are looking for is the 2013 cost study that was updated as a result of the 2014 rates settlement.  So that would be EB-2013-0365.  I believe that, in an undertaking response to ANE in this proceeding, we did, at a minimum, provide a link to that particular cost study, and perhaps there is something on a best efforts basis we can do by way of undertaking.

But that link would ultimately take you to the cost study, which would show what I will call the Board-approved Dawn station revenue requirement and then -- so hopefully, that is helpful.

To answer your second question in terms of how the Dawn station costs are allocated, they're allocated based on design-day demands on the Dawn to Parkway system that require Dawn compression.

DR. HIGGIN:  Correct.  So I wonder if you would humour me and try to give me some assistance with that so that, when we look at this case, we see the Dawn station costs separated from the rest of the costs.  That is what I am looking for is the Dawn station piece and how that relates to -- you said 365 was the last approved.  I thought it was 2010, but anyway --


MR. TETREAULT:  There was an update done in a subsequent rates proceeding.

DR. HIGGIN:  Okay.  So that would be helpful, just if you could show me those costs, and then how they are allocated, not only to the rate classes as well as, of course, to the demand, because the demand is from the rate classes, of course.

MR. TETREAULT:  That's correct.  Yes, we can take a look at this, Dr. Higgin.

DR. HIGGIN:  That would be very helpful.  Thank you.  And I will tell you why I am interested in this, because of the way that the Dawn station is used, apart from the specific service from Dawn to Parkway and other factors.  I'm going to go there in a minute.  So thank you.

MR. MILLAR:  The undertaking is JT1.4.
UNDERTAKING NO. JT1.4:  TO PROVIDE AN UPDATED FIGURE FOR THE DAWN STATION REVENUE REQUIREMENT

DR. HIGGIN:  Okay.  So just to take a bit of a look at this, could we go to Exhibit B, BOMA 9, attachment 1, please?  So maybe you could just outline what this diagram shows in terms of the Dawn station? Again, if it is the other panel --


MR. REDFORD:  We're just discussing that.  It may be better asked with the other panel.

DR. HIGGIN:  I will just tell you what my follow-up questions are, and it relates, of course, to how the Dawn station costs are generated and allocated to the demands.  And the other things are the connections to the Dawn station, one of which, of course, is the Union storage; we see that.  And then the third question is related to your non-regulated business and the allocation of Dawn station costs to the unregulated business.  Those are the three areas that I am interested in exploring and understanding a little better.

MR. SMITH:  It may be that you ask your questions and we will see how we do, because certainly the latter questions, Dr. Higgin, sounded to me like cost-allocation and rate design questions.

So why don't we start and see where we go?

MR. QUINN:  Mr. Millar, if I may, because I was trying to separate my questions similarly and part of my challenge, I think, is what Dr. Higgin is experiencing is that some questions are on the basis of what the facilities are used for; then there are cost-allocation questions.  But establishing what the facilities are used for is the second panel and the cost-allocation expert, as I understand, Mr. Tetreault is on this panel.

Would Union consider adding Mr. Tetreault to the next panel also?  That way it might help the flow from a questioning point of view?

MR. SMITH:  I am not -- I would like to see how things go, Mr. Quinn.  There is nothing particularly unusual about the way in which the panel has been structured.  So let's see how the questions go and see how we do.  And if it becomes a problem, then we will have to think about alternatives, but at this stage, we haven't hit a problem yet.

MR. QUINN:  Okay.  We haven't hit a problem yet, Mr. Smith, and I respect that.

We did not have prior notice that there would be a separation of panels, and I think I have cobbled together my questions, but I may have to circle back to a cost-allocation question.  I'm just highlighting that at this time because I need to understand the basis of the facilities then to understand the cost allocation so -- and the drivers of how those costs are allocated.  So I am just giving you a heads-up in that direction, but I will let Dr. Higgin continue.  Thank you, Dr. Higgin.

DR. HIGGIN:  Thanks.

So let's just start by having a look at this diagram, and perhaps, could I ask the witnesses just to show us what this depicts, in terms of the operation of the Dawn station on the winter 2017/2018 design day and what these numbers are, et cetera, et cetera?  If you could just give us a bit of a 101 on Dawn station peak day, please.

MR. LAMOUREUX:  Well, at a very simplified level, it just represents how the units are used.  So if you start with kind of the Union storage, C, D, and I units would be used to pump from storage to -- basically to Dawn yard pressure, which is the 4,826.  Then you have got a number of units which will then pump it from the Dawn yard pressure to transmission pressure, so J, E, F, and H then move it up to the 6,160.

DR. HIGGIN:  And that 6,160 is the required pressure for the Dawn-Parkway, and I assume the panhandle system.  That is the pressure requirement on that day?

MR. LAMOUREUX:  That's correct, yes.

DR. HIGGIN:  So the question I have is -- a couple of questions then as to how the costs of the Dawn station, which we are going to understand in a little bit from a revenue requirement point of view, how those costs are allocated to the different services that operate on the design day at Dawn.

For example, I assume from Dalmuir, Enbridge brings gas in to there at the first -- at the end of the second -- first level of compression.  And then that is compressed further and flows down to delivery for them on Dawn-Parkway, for example.  And that is an M12 service, the delivery.

And so I am trying to understand how the costs are allocated for that particular piece and so on.  It's...

So the question I think is this:  Can you help me understand, when the design day is going to be now 2018, 2017/2018, with compressor H, which is now much bigger?  It is a replacement plus the expansion.  I want to understand the difference.  How are the costs going to be allocated when compressor H is now used for expansion as well as for the basic services that are shown here?  Of course, the revenue requirement for H, compressor H, even the replacement piece will be would be much higher than historically.  It would be higher.

So I am trying to understand, then, how those costs will be allocated to the services.  So that is the costs of compressor H, as per the replacement, plus the expansion will be allocated to those particular services.

MR. SMITH:  Sorry, just so I understand, Dr. Higgin, is your question just simply how are the costs of Dawn plant H going to be allocated?

DR. HIGGIN:  Yes.

MR. SMITH:  Thank you.

MR. TETREAULT:  Dr. Higgin, plant H is a transmission compressor.  It is driven by utility transmission requirements.

So from a cost-allocation perspective, we are treating it as transmission and recovering those costs based on the design day demands at Dawn or from Dawn that require Dawn compression.

DR. HIGGIN:  Okay.  So the first stage compressors, they're not for transmission.  They're for storage.  Is that how I should understand this diagram?

MR. TETREAULT:  I don't know that -- I should not be speaking to this figure.  What I can say, as you know, is that Dawn provides two services.

DR. HIGGIN:  Yes.

MR. TETREAULT:  Dawn provides storage services, and it provides transmission services from -- not to get too much into the details of cost allocation, but in terms of how we functionalize those costs between storage and transmission, we look at how the assets at Dawn are used.  If an asset is used for storage only, it is functionalized to storage.  If it is used for transmission only, it is functionalized to transmission.  And then if an asset can provide both services, there is a functionalization typically based on horsepower between storage and transmission.  That is sort of the generic Board-approved methodology, if you will.

DR. HIGGIN:  Right.

MR. TETREAULT:  And in terms of -- as I mentioned, in terms of Dawn H, it provides transmission service.  So it is, in cost-allocation terms, directly assigned to transmission and recovered based on design-day demands from Dawn requiring compression.

DR. HIGGIN:  So plant B, which it is replacing, was that also only for transmission?

MR. TETREAULT:  Plant B provides transmission compression horsepower on design day.  From a cost-allocation perspective, it is functionalized between storage and transmission.

DR. HIGGIN:  Oh, okay.  So plant B then was -- had a dual function; correct?

MR. TETREAULT:  Correct.

DR. HIGGIN:  And you are now saying that plant H, which replaces that, has a single function -- functionalization, and that is a transmission.  Is that -- I have to understand that?

MR. TETREAULT:  That's correct.  Recognizing that -- and again, this may be somewhat for panel 2 -- recognizing that both units provide transmission compression horsepower on design day.

DR. HIGGIN:  Thank you.  That is helpful for me to understand, then.

So I don't know whether we want to look at the revenue requirement.  You have given me an undertaking to take a look at that, so I think I will just leave until you come back with me as to the allocation of the Dawn station costs.

So for now I think that is all the questions I have, then, Mr. Millar.  Thank you.

MR. MILLAR:  Thank you, Dr. Higgin.

Who would like to go next?  Mr. Quinn.
Examination by Mr. Quinn:

MR. QUINN:  Thank you, Mr. Millar.  I am going to -- I've tried to organize the questions -- sorry, first off, good morning, panel.  This is Dwayne Quinn on behalf of FRPO.  I know most of you.

I'm going to try to go with my safest questions first that I think are panel 1 questions, and then hopefully from there, you can tell me if it goes to panel 2.  But we had some inquiry to do on plant B versus plant H also.

Dr. Higgin's covered some of it, but as they are alluded to by the panel several times, there is facilities people that could best speak to some of the utilization of the different components of Dawn plant, and then Mr. Tetreault speaks to functionalization.

So I just reiterate my request that Mr. Tetreault be added to panel 2, and I think that would assist all of us.

But I understand that Mr. Sloan will not be joining panel 2.  Good morning, Mr. Sloan.  I had a question for you that was related to your report.  Exhibit 4-7 of your report had a table with projects from U.S.  I thought if we could start there.

MR. SLOAN:  Okay.

MR. QUINN:  It is Exhibit 4-7, yes.  Sorry, Chris, I will give you a page number here.

MR. SMITH:  Page 40.

MR. QUINN:  Page 40, yes.  Thank you, Mr. Smith.

MR. SMITH:  Just so the record is clear, when you earlier indicated Exhibit 4-7, that is 4-7 within the ICF report, which itself can be found at Exhibit A, tab 5, Schedule 1.

MR. QUINN:  Thank you, Mr. Smith.  I will try to be more precise in helping Mr. Gagner here.

Eighty-four, Chris, on the -- page 84 on the PDF file?

MR. SMITH:  Just go up three more pages.  Mr. Gagner, it is page 40 of 61, so if you scan up -- no, the other way.

MR. QUINN:  The page numbers are slightly different than mine maybe.  Okay.  Thank you.

MR. SMITH:  There you go.

MR. QUINN:  Okay.  Mr. Sloan, you would be familiar with this chart?  We were talking about potential Marcellus and Utica expansion into the Northeast, and, as I understand it, these expansions are basically what you would refer to as the North American Northeast.  Would that be correct?

MR. SLOAN:  Yes, that would be correct.

MR. QUINN:  Some to Canada, but most to parts of the U.S.?

MR. SLOAN:  Well, this particular chart is simply into the US Northeast.

MR. QUINN:  The pipelines are there, but some are transmitting gas to Canada, Atlantic Bridge?

MR. SLOAN:  Yes.  Atlantic Bridge does increase capacity into Canada.

MR. QUINN:  Okay.  Well, this may be the difference in our perspectives, and maybe we weren't specific enough in our questions.  But we asked in FRPO 7 about the -- specifically the -- I lost my own reference.

If you could turn up FRPO 7?  Thank you.  So what we were asking for were capacity additions from Marcellus areas into Niagara and Chippawa and which projects listed in that -- we call it a table, but it is Exhibit 4-7 -- deliver to Niagara or Chippawa.

Your answer was all capacity listed in table 4-7 is into Niagara and Chippawa.  So I think we might be on a different page number or reference, but what I don't see is the specific projects as they relate to capacity into Niagara and Chippawa in your answer.

MR. SLOAN:  Well, I think that I misinterpreted your question, and I will apologize for that.

The projects that go into Niagara and Chippawa are in table 4-9 as opposed to 4-7.

MR. QUINN:  Okay.

MR. SLOAN:  And, in 4-7, I am not sure that there are any of the projects that cross into Canada through Niagara or Chippawa.  Those are all in 4-9.

MR. QUINN:  Okay.  Because I didn't help Mr. Gagner initially, since we're on 4-7, I will ask my question about 4-7, and then we will go to 4-9.

On 4-7, have you made any modifications to this table as a result of your most recent base case forecast?

MR. SLOAN:  There are a couple of modifications.  We do update the tables when new information becomes available.

MR. QUINN:  Okay.  Would you be willing to provide, by way of undertaking, just what those updates are?

MR. SLOAN:  I will do that, yes.

MR. QUINN:  Okay, thank you.

MR. MILLAR:  JT1.5.
UNDERTAKING NO. JT1.5:  TO PROVIDE THE MODIFICATIONS THAT WERE MADE TO TABLE 4-7

MR. QUINN:  Now moving on to 4-9, so we are now on the same table or exhibit.  Thank you.  So these are projects that are Western New York and within Ontario.  So we asked specifically about the -- which projects serve additional expansion -- additional capacity expansions into Niagara and Chippawa that are included during the forecast period through 2035.

You've got a frame of reference that seems to stop at November 2017 planned in-service dates.  Are there no more projects, to your knowledge, that would feed into Niagara and Chippawa beyond 2017?

MR. SLOAN:  As of right now, there are no additional projects that have been announced, and we don't include any additional projects in our base case.

MR. QUINN:  Maybe you can clarify.  What gets included and what doesn't get included in your base case?

You said "announced."  Is there an official start point for a project that makes it cross a threshold for inclusion into your analysis?

MR. SLOAN:  Our base case adds pipeline capacity that is -- that we believe is justified by market conditions.

Typically, when pipelines are being considered and designed -- perhaps I shouldn't say "typically," but very often there will be multiple pipelines that are developed and proposed that serve the same purpose or move the same supply or deliver to the same demand sources.  And so the fact that a pipeline project has been announced does not -- is not sufficient to believe that it will proceed and so is not included in our base case at that time.

If there are multiple projects and we believe that the demand is justified to build one of the multiple projects, then we will include a generic pipeline in our base case that has the capacity that would be either what we view as justified by the available market conditions or representative of one or more of the pipeline projects.  But it would be a generic project until it becomes more clear as to which of the different options actually would be developed.

MR. QUINN:  So we can't get inside the black box of ICF.  I appreciate the description you have given me so far.  I am going to ask a more specific question than the general question.

At what point -- if you were to take a couple of competing projects, at what point do you go from a generic project to defining this is the winner and this is the loser for the purposes of your modelling?

MR. SLOAN:  It is not always a bright line.  But typically, if you have FERC approval or NEB approval for the project, it would be included in our base case.

There are occasions where a FERC filing that sufficiently defined the demand for the project would be sufficient to include it in the base case.  But if there were concerns about it at that point, we might or might not.  So if the pipelines have been approved, they generally would be included in our base case.

MR. QUINN:  Okay.  That makes sense.  Would the corollary of that be the other project is deemed not to be successful because, in your judgment, there wasn't enough market?

MR. SLOAN:  That's specific to the individual circumstances, and we would not build additional pipeline capacity if we did not view the market demand as sufficient to justify the additional pipeline capacity.

MR. QUINN:  The market and the -- let me ask it this way.  So there is an element of judgment, I guess, involved in terms of assessing conditions on a regular basis to determine where the market is developing and who the successful proponents are?

MR. SLOAN:  It is part of our forecasting process, and we do exercise judgment as part of our forecasting process; that's correct.

MR. QUINN:  And how often do you do revisions to those forecasts?

MR. SLOAN:  Quarterly basis.

MR. QUINN:  Okay.  Thank you.

Okay.  And again to you, sticking with panel 1, if you could turn up FRPO 9.  Thank you, Mr. Gagner.

One of these, I guess -- first off, we asked the question about the reversal of Iroquois between -- well, the reversal of Iroquois at the Canadian border between Waddington and Iroquois to go bidirectional, and you had concluded that the high capital costs would prevent that occurring.  That's correct?  That's an assumption in your forecast?

MR. SLOAN:  I would not say that that's correct.  Capital cost -- the value of the project was not sufficient, in our view, to justify the capital cost.

MR. QUINN:  So that goes to that component of market you talked about before?

MR. SLOAN:  It goes to how the pipeline capacity would be used and what the value is to the shippers and to the users of the pipeline.

MR. QUINN:  I am trying to simplify this for the record and for my understanding, I guess.

You're talking about a value proposition to shippers, but that feeds into your judgments about whether there is sufficient market, or is it another component of your analysis that that feeds into?

MR. SLOAN:  Well, it is a combination of factors, looking at the supply/demand components, the cost of the project, and the value of the services that would be provided by the project.

And if we're looking at SoNo, we're looking at a project that, in our view, will not be used during the winter months.  It will be used only during the summer months to flow gas into Ontario from New York.  So it does not have value on a peak day or a peak season, which is where most of the value of pipeline capacity in that region of the country occurs.

There is certainly value to pipeline capacity exiting the Marcellus and Utica basin throughout the year, but we're still looking at a market where the peak winter periods are critical and particularly when we're looking at what the impacts might be on the pipeline capacity that goes back to Dawn and the utilization of Dawn storage and pipeline capacity on the Union system.  What is driving that is winter demand.  So the Iroquois SoNo Project would not have much of an impact there, and we're not convinced that the summer utilization that might occur on the SoNo Project would be sufficient to justify the costs of the project.

MR. QUINN:  Okay.  So we're talking fairly simply about Iroquois, and that's the point on the TransCanada pipeline system, the receipt point on the TransCanada pipeline system.  Is that correct?

MR. SLOAN:  Well, that's the -- right now it is the delivery point on the TransCanada system and into Waddington and the Iroquois pipeline.  On SoNo, that would be reversed.

MR. QUINN:  Sorry, I jumped ahead.  That's correct, what you have said.

If SoNo were to proceed, Iroquois would be the point of receiving gas from Waddington on the TransCanada pipeline system?  Is that correct?

MR. SLOAN:  Yes.

MR. QUINN:  Okay.  Thank you.  So you're familiar that TransCanada offered an open season in 2017 providing services that were used in conjunction with what this Dawn-Parkway project would feed?  You're familiar with that open season?

MR. SLOAN:  I'm generally familiar with the open season.

MR. QUINN:  Would you be familiar that TransCanada was not offering services that offered Iroquois as a receipt point because they required a reversal of that meter to justify it?

MR. SLOAN:  I would accept that, yes.

MR. QUINN:  Okay.  Would it surprise you that a Canada-based shipper has a contract for a receipt point at Iroquois starting in 2017?

MR. SLOAN:  It wouldn't shock me.

MR. QUINN:  Would that help convince you that possibly the perceived capital costs and the market implications -- use the word about the value of the capacity -- would not be sufficient to justify the capital cost?  Would this help convince you if that were a fact?

MR. SLOAN:  Not without more information than what you have provided.

MR. QUINN:  Would that be something you would take into consideration in the judgments of what flows may or may not be available into Ontario?

MR. SLOAN:  I always will take into consideration any information that is available to us on what those flows might be.

I would say, again, however, that, based on our modelling and analysis of pipeline capacity supply and demand, that SoNo is unlikely, very unlikely, to flow during the winter months.  So it would be a -- primarily a summer supply flow, and here we're talking about an actual reversal of the project.

One of the questions that I would have for you is, rather, that receipt at Iroquois is a reversal or simply a diversion, but unless there was significant demand flow during the winter, it is not going to have a significant impact on what we're talking about today.  And our modelling suggests that that won't be the case.

MR. QUINN:  Okay.  Well, when we have the opportunity to switch roles maybe you can ask me those questions, but I shouldn't add more to the record, so I will leave it at that.

Thank you, Mr. Sloan.  I appreciate your input.

I understand that term-up provisions is part of what would be asked of panel 1 from clarification earlier.  So if you would turn up APPrO 5, which is page 106.  Oh, you have got it there, okay.  Sorry, APPrO 5, page 106.  Thank you.

MR. REDFORD:  We have that.

MR. QUINN:  Okay.  Thanks.  The question was asked in (a):

"What other mechanisms to promote efficient expansion of the Dawn-Parkway system did Union explore prior to proposing the term-up provision?"

And it asks then:

"Please describe each alternative and elaborate on why Union chose the term-up provision."

I think you answered the second part of that question in why you chose it, and we're appreciative that we, along with CME, had asked Union to consider that.

But we were interested in APPrO's question in terms of what other alternatives did Union consider.  Could you help us with that?

MR. REDFORD:  I can.  When we looked at whether the term-up provision was a good tool to add to efficiently manage the capacity expansions on Dawn-Parkway, we didn't see any other mechanism that was as good as the term-up provision.  It was suggested in the 2016 Dawn-Parkway expansion project, in that proceeding, and TransCanada had gone ahead and had a term-up provision of their own.  So we didn't really see a better alternative out there.

MR. QUINN:  What other alternatives did you consider?

MR. REDFORD:  Well, you know, I can't recall what we specifically looked at.  I think our view was that there was nothing that was obvious that was an alternative.  This was something that was recommended in the proceeding, in the 2016 proceeding, and something that TransCanada had put in place and made sense to us.

MR. QUINN:  No, I understand that, Mr. Redford.  I guess I was just trying to get an answer to the question.

It sounds like there was consideration, and I appreciate we don't have complete repositories of all knowledge that we may have received in the last year or two.  So would you, by way of undertaking, be able to answer that question of what other considerations are there or were there for Union and what the pros and cons would be?

MR. SMITH:  Unless Mr. Redford has something to add, I think you have the answer to the extent we have one.

MR. QUINN:  So there was no other alternatives considered?  That is what I've got.

MR. SMITH:  No.  What he said is he doesn't recall there being anything else that was seriously considered at this time.  And if we have to correct that answer, we will do that.

MR. QUINN:  Okay.

MR. SMITH:  But that is the answer.  If there is something else, Mr. Quinn, that you want us to consider, by all means, please ask Mr. Redford about it.

MR. QUINN:  Well, this may be a good point, Mr. Smith, because you provided a differentiation at the start, which we're trying to abide by.  We're separating the approval for the capital pass-through from what I had understood to be, in the past, you have sought preapproval of the cost consequences.  So can you help me?  Is there going to be a subsequent proceeding that Union is going to be requesting preapproval of cost consequences, or is this the only proceeding whereby we could ask questions about alternatives and how Union approached it?

MR. SMITH:  Mr. Quinn, perhaps you have misunderstood the application in this respect.  It is not a leave-to-construct application under section 90 or 91, as Union has filed in the past.  But, as in other applications, Union is applying for capital pass-through treatment in accordance with the capital pass-through mechanism reflected in the Board-approved IRM agreement.

So, in that respect, the application is the same and not different from earlier applications.  And you will see that in the Notice of Application itself.

MR. QUINN:  So there is -- is there an explicit request for the preapproval of the cost consequences?

MR. SMITH:  I'm not sure I understand what distinction you are trying to ask me to draw, Mr. Quinn.  There is a capital pass-through mechanism in the IRM agreement.  It has requirements that you bring an application, like this application, in order for the cost consequences of the project to flow into rates, once they're in -- once they're used or useful.

And that is what we are applying for, exactly the same way we have in other cases.
Examination by Mr. Garner:


MR. GARNER:  Can I just -- sorry, Mr. Smith.  Thank you and I appreciate your answer, and perhaps you will have some patience with my questions, because I had some questions just around this also perhaps you could help me with.

You say this has been done before.  Are there other applications -- can you give me a reference to an application where the Board has used the same section?  I'm not challenging you.  I'm actually trying to figure out how this works myself.  It may be my own ignorance to this.

Has another application been made, other than, under 91, for a Dawn to Parkway, Dawn project?

MR. SMITH:  Well, Dawn to Parkway project?  I am not -- well, there is an interrogatory that deals with this, Mr. Garner.  Maybe we should turn it up.

MR. GARNER:  Thank you.  That would be helpful.

MR. SMITH:  I think it is an Energy Probe interrogatory, but I am not -- I can't remember.  Maybe BOMA?

MR. GARNER:  I do recall seeing a BOMA IR that had something on this.

DR. HIGGIN:  Yes, that's right, Mark.

[Counsel confers with witness panel.]


MR. GARNER:  While they're looking for it, Mr. Smith, maybe I could just ask a follow-up question also that was just -- I was trying to figure out how this all works.  I'm not familiar with the agreement -- and I apologize for that -- that you are referring to what this is done under.

The approval of the application, if it were approved, does it result in a rate change or simply the costs being recorded and then the rate change being done at a subsequent period?

MR. SMITH:  I will ask -- I will let Mr. Tetreault answer that.

MR. TETREAULT:  Mr. Garner, we are seeking, as part of this application under section 36, to include the cost consequences of the project in rates.

MR. GARNER:  And when would that actually occur?  So would it occur when the Board makes -- in your mind, when the Board does this approval, or at a subsequent period those costs would then be implemented?

MR. TETREAULT:  Yes, I think it is perhaps a combination of those things. So we've proposed here to build the costs into rates in 2016, 2017, and 2018.

As you may know, we have just recently filed a 2016 rate application, which did include the 2016 cost consequences of this particular project.  And then the proposal would see us, if approved, continuing to build the cost consequences into rates in 2017 and 2018.

MR. GARNER:  Right.  Again, sorry, but is there a bit of a -- could there be a practical problem in the fact that the current 2016 application is concurrent, so to speak, with this one, and decisions may come out at different periods of time?  What is the contemplation if that happens?

MR. SMITH:  They may.

MR. GARNER:  Okay, fair enough.  No one has really figured out, if the Board doesn't make this decision, then -- maybe the other way to put it would be:  If there is no decision in this case and the other one proceeds, then Union will deal with that in the other case as it needs to.  Is that the idea, removing the costs or not, is what I'm saying?

MR. TETREAULT:  That is, I will say, a possibility Mr. Garner.  Keep in mind as well that part of our section 36 request here is for a deferral account, which is meant to true-up the revenue requirement in rates to the actual revenue requirement.  So to the extent you have timing differences potentially, there is -- if the deferral account is approved, that mechanism as well to true things up, as there have been with other capital pass-through projects that have been approved by the Board.

MR. GARNER:  Right.  Okay.  Thank you.

MR. SMITH:  I have pulled it up, the interrogatory response.  It was not a BOMA question.  It was ANE 13 that just asked for other capital projects that had qualified for capital pass-through mechanism treatment, and then there’s five projects listed there.

MR. GARNER:  I wonder if the panel or you, Mr. Smith, could tell me:  Were these also all done under section 36, or are they section 91 applications?  Do you know?

MR. SMITH:  They were both, is my recollection.  I mean, you have to apply for leave to construct under the Act, under section 90 or 91, if the project meets certain specifications -- sorry, under section 90.  You may apply under section 91, but they're driven by the type of project it is.

This is not that type of project, so Union doesn't need leave to construct under the act, but they were also section 36 applications like this one.

MR. GARNER:  Right.  Thank you.  That is what I was looking to confirm, that there was, in fact, a precedent under 36.

What I am hearing is for this type of project, and I am hearing that is true; correct?

MR. SMITH:  Yes.

MR. GARNER:  Thank you.

MR. GARNER:  Sorry, Mr. Quinn.  Back to you.

MR. QUINN:  Thank you, Mr. Garner.  That was helpful for me also.
Continued Examination by Mr. Quinn:


Staying with the term-up proposal, if I understand this correctly, under Union's proposal, shippers would be able to split their contracts by volume, extending the term and retaining renewal rights for a portion of their contract while allowing the rest of the contract to expire at the end of the term.  Do I have that right?

MR. REDFORD:  That's correct.  So just by way of example, if somebody had a 10,000 gJ a day contract and was required to make an election through the term-up process, they could elect to turn half of that back and not -- not term it up, so to speak, and they could elect to term-up the other half, not anything turning on half, just as an example.

MR. QUINN:  Okay.  So would shippers also be able to split their contracts by path?  For example, would a shipper holding a Dawn-Parkway contract be able to extend the term of the Kirkwall to Parkway portion of the contract and allow the Dawn to Kirkwall portion to expire at the end of the term?

MR. REDFORD:  I would say no.  I don't think we have ever -- I don't think we have contemplated as it is written, no.

MR. QUINN:  So it is the complete path, just the quantity and term that would be the factors that would
be --


MR. REDFORD:  I believe that is how it is written now.

MR. QUINN:  Okay.  We are just trying to get clarification.

So would the term-up provision also apply to small contracts that would not affect the scope of facilities that would be built?

MR. REDFORD:  No.  It would apply to anybody in the path.  So if it is a Dawn-Parkway expansion, anybody that is going easterly would be impacted.

MR. QUINN:  When you say "impacted," they would be able to have that right or choice?

MR. REDFORD:  They would be subject to the term-up provision.

MR. QUINN:  Okay.  What we're trying to understand -- and maybe this is the best time to turn up BOMA 26-C.  It was in a FRPO interrogatory also, but you answered the question more specifically in the 26-C.

We're trying to understand the exclusion of the 1,363 gJs for November 1, 2017.  Can you help us with where that differentiating factor is in your term-up proposal?

MR. REDFORD:  Well, this is -- so the capacity that we're talking about in BOMA 26-C was turned back as a result of reverse open season.  We're in a surplus position, so it didn't make any sense to us to take additional turnback if we're already in a surplus position.  It doesn't -- obviously does not impact the facilities that we are going to build.  So with respect to the reverse open season, which is this 1,363 gJs a day, we didn't accept it on that basis.  It doesn't impact the build of the facilities.

MR. QUINN:  Okay.  Well, I guess what I understood then, the term-up proposal would apply to small contracts, that they would have to term-up.  But then, if small contracts then applied for turnback as a result of a reverse open season, they are not allowed if they do not contribute to a facilities change?

MR. REDFORD:  So all shippers have an opportunity to participate in the reverse open seasons that are in the path.  So if it is an easterly service, you have a chance to turn your capacity back through the reverse open season.  The term-up provision, again, if it is a Dawn-Parkway expansion, would apply to all shippers that are going easterly.  We wouldn't discriminate between somebody that holds half a PJ a day versus somebody that holds 1,000 gJs a day.  All shippers would -- based on the parameters of the term-up provision, all shippers would have to elect if their term ends before five years from the date of the in-service date, proposed in-service date.

MR. QUINN:  So --


MR. REDFORD:  I don't know how we would do it otherwise.

MR. QUINN:  Well, I'm trying to understand it.  And I'm trying to stay away from the customer name, because it is not important, but just as a general practice, this customer would then have to term-up and not -- because they weren't allowed to turn back.  They would then be captured in the net of term-up?

MR. REDFORD:  Well, it depends on when they're -- in this case, it would depend on when their term -- expiry is on their primary term.

So they would have the ability to elect to participate in the reverse open season, which they could turn the capacity back when the facilities go into service.  They always have the ability to allow their contract to terminate at their renewal date as well.  So they have -- you know, if you're a shipper, you actually have two -- you have two opportunities to turn your capacity back.  One is through the reverse open season, and the second one is through the term-up process, whichever -- you know, if you were inclined to turn it back, whichever meets your needs.

MR. QUINN:  Okay.  I think I understand that.  Thank you, Mr. Redford.

Mr. Millar, I just wanted to check in with you.  Did you have a time in mind for a break?

MR. MILLAR:  Around 11:00.  So are you nearly finished?

MR. QUINN:  Well, I'm actually going into an area where it has facility implications and trying to understand and then cost allocation implications, and I certainly want to speak to Mr. Tetreault about that aspect.

MR. MILLAR:  Okay.  Why don't we take our break, unless you are just going to be a couple of minutes?

MR. QUINN:  No, no.  Depending on the answers, they may have to defer some of them.

MR. MILLAR:  Let's take our break, then, and return at 11:15.

MR. QUINN:  Okay.  Thank you.

MR. WOLNIK:  Michael, it is John Wolnik speaking.

MR. MILLAR:  Oh, yes.  Hi, John.

MR. WOLNIK:  I think, based on this discussion we've had this morning, I think my questions are for panel 1.  So perhaps after Dwayne is finished, I could ask my few questions?

MR. MILLAR:  Okay.  Sounds good.

MR. WOLNIK:  Thank you.

MR. MILLAR:  Okay.  11:15.
--- Recess taken at 10:56 a.m.
--- On resuming at 11:15 a.m.

MR. MILLAR:  Okay, everyone, why don't we get started again?  Mr. Wolnik, are you still there on the phone?

MR. WOLNIK:  Yes, I'm here.

MR. MILLAR:  We're going to finish Mr. Quinn.  Then we will go to you.

MR. WOLNIK:  Thank you.

MR. MILLAR:  Okay, Dwayne.

MR. QUINN:  Thank you.  I want to start -- I'm going to ask some questions that may sound like facility questions we can defer, but then hopefully come back to the cost-allocation questions, which are at the nub of it.  So if you could turn up, please, BOMA 8?

Just before I start these questions -- and I should have probably prefaced this -- if we have questions about operation of the plant, is that the facilities guys, the facilities folks later?

MR. LAMOUREUX:  No, I can answer those questions.

MR. QUINN:  Oh, okay.  Well, that changes some flow here.  Okay.  I will start with this line, and then I will go back to the operation of the plant.

So what I am reading here speaks for itself in terms of the capacity for Dawn -- sorry, for Lobo D is 118,229 gJs and Bright C is 338,000.

But it does not -- Dawn H does not increase the capacity of the Dawn-to-Parkway System.  However, Dawn H increases the capacity at Dawn to meet the requirements for additional flow into the Dawn-to-Parkway system.

So, stopping there, would the incremental capacity required in the Dawn-to-Parkway system be the sum of the Lobo D and Bright C, which my math would say is about 456,000?

MR. HOCKIN:  The answer is yes on behalf of the second panel.

MR. QUINN:  Okay.  Well, Mr. Hockin, I am trying to differentiate.  If this should go the second panel, I would be pleased to do it.  But I need to speak to Mr. Tetreault, so -- okay.  Thank you.

So if I then read further, then, Dawn H increases the capacity of Dawn to meet the requirements.  I'm going to look at B, but then we'll turn up BOMA 9 next.  But B says Dawn H replaces Dawn B of 1.8 and provides additional capacity at Dawn of 1.0.

So if 456,000 is 0.456, I'm struggling with -- if my math is correct, you can use 456,000 TJs per day, but you are adding 1,000 TJs per day when you replace Dawn B with Dawn H.  Do I have that right?

MR. HOCKIN:  Some of these specifics will obviously go to the second panel.  But I will give you my understanding.  That is part of the way the analysis was done, which is Dawn H provides the appropriate pressure for the design requirements of the Dawn-to-Parkway system.

So the only numbers that are applicable for purposes of my economics and the throughput, et cetera, are the numbers that are shown in part A of the question, which is the capacity of Lobo and Bright, because, for purposes of the economics, Dawn H doesn't provide any capacity.

Does that help the start of your question?

MR. QUINN:  It does, but it creates another question that I will have to come back to.

This might be helpful, because I am going to keep this at a high level, Mr. Hockin, respecting that we will have a chance for some more detail later on, or potentially the other panel can answer this.

But if you can turn up the schematic that came with BOMA 9, I guess this simplifies it; these boxes simplify it for us.

So if I understand your question correctly, Dawn -- sorry, your response to my question correctly, Mr. Hockin, Dawn H brings it from 4826 up to 6160?

MR. LAMOUREUX:  So just to be really clear on Dawn H, Dawn H serves two purposes.  One is to support the additional growth, and two is to replace the transmission capacity for Dawn B.

MR. QUINN:  In the previous response, Dawn B had a capacity of 1.8.

MR. LAMOUREUX:  1.8.

MR. QUINN:  You are adding 2.8, so you have 1.0 PJs of additional capacity; correct?

MR. LAMOUREUX:  Correct.

MR. QUINN:  But your takeaway capacity is 0.456 in the same PJs per day unit.  Is that correct?

MR. REDFORD:  Yes.  So just to be clear, just following through the math, 2.8 is the capacity of Dawn H; 1.8 of that replaces plant B.

Then I think you said there is an additional one PJ of capacity, and then part of that 1 PJ a day of capacity would be used to support the growth loads under this application.

MR. QUINN:  What happens with the rest of it?

MR. REDFORD:  Well, the rest would be excess capacity. It would be surplus capacity at Dawn, no different than the surplus capacity that existed for us to get through 2015 and 2016 builds without having to add compression at Dawn.  It's very difficult to match compression unit sizes and capacities to, you know, the actual loads that are going through.

Typically, compressors are built, and it is kind of a lumpy build.  So in this case, plant B -- plant H, pardon me, would do the plant B replacement, also provide a PJ a day of capacity of which -- Mr. Wallace can confirm the numbers, but somewhere around half would be used for growth out of this application.

MR. QUINN:  I am going to try to segment that answer and make sure we ask the right questions of the right panel.  So I am going to start with Mr. Hockin and talk about the economics.

So is it correct, then, for the purposes of economics, Mr. Hockin, that only 0.456 of the incremental one would have been used?  The costs are apportioned that way, or was the entire incremental cost of Dawn H used for your economics?

MR. HOCKIN:  If we can turn up my exhibit, tab 9 Schedule 4, in the note section it speaks -- it starts off with:

"The Dawn-to-Parkway demands are the portion of the total incremental loads."

Et cetera.

You will see the 456.6, which is referenced from the table, and it works its way down through various calculations to be 441.8, which is available for the M12 service.  Those numbers are translated up into rows 2, 3, and 4 used for the revenue calculations for DCF purposes.

So that is the math that was used for the revenue, because the capacity created by the facilities is, as you have stated, 456.6.

MR. QUINN:  So 456.6 is the capacity of the compressor, the new Dawn H compressor that can be utilized. Did you discount the amount of Dawn H cost in doing your economics by saying not all of the utilized capability can be used?

MR. HOCKIN:  No.

MR. QUINN:  So the entire Dawn H cost goes into your economics?

MR. HOCKIN:  Correct.  Dawn H, in round figures, is 250 million -- I think it is 249 point something.  The DCF that is represented in the economics is 622 million, which is the Lobo, Bright, and entire Dawn H facilities.

MR. QUINN:  Okay.  That is helpful.  I've dealt with the economics, and I appreciate you clarifying the economic treatment.

I want to get back to that surplus capability, but I have to ask a question that possibly this panel can answer.

In looking at the schematic, if we could go back to BOMA 9, it’s clear one of the differentiating factors here that separates H from G -- Sesame Street.  Three of these things are like the other.  One is not the same.  J, E, and F go through the DHi Unit; H does not.

My limited understanding of the DHi Unit is for your later-season withdrawals to be able to strip the water out so that the gas could be sent down the Dawn-Parkway system appropriately.  Is that correct, first off?

MR. LAMOUREUX:  So yes.  I mean, because it is modelled for the design day, so the storage levels are lower, and so you are correct.  At the beginning of the year, we don't tend to require the DHi Unit.

MR. QUINN:  So tend to use a DHi Unit.  Have you had experience going back, let's say, to February, end of February, 2014?  Was gas flowing through the DHi Unit at that time?

MR. LAMOUREUX:  Typically, by the time we hit January and February, the DHi is online and being utilized.

MR. QUINN:  So does that mean Dawn H is available for a March 1st peak-day design?

MR. LAMOUREUX:  So the diagram separates H, because through H, you are going to be running the dry gas through that.  So the capacity of the DHi relative to the capacity of the entire Dawn system or the Dawn yard is lower.  So that is how you get up to the 7.2.

MR. QUINN:  Okay.  You're going to have to walk me through that a little bit better.  I heard you say Dawn H is going to be managing the dry gas.

MR. LAMOUREUX:  Correct.

MR. QUINN:  How did that gas get dry before the DHi Unit?

MR. LAMOUREUX:  So not all of the gas is coming through storage either.  So the inputs into the system -- so if you go -- if you step back up in the model, you see you have got the Dalmuir and Tecumseh as well as the Vector Great Lakes.  So those don't feed directly into our storage pools, and then from there, they will feed either through the DHi Unit or potentially through Dawn H.

The system is quite complex at Dawn.  We can probably have a more robust discussion on panel 2 if you would like.

MR. QUINN:  Are you back on panel 2?

MR. LAMOUREUX:  I am back on panel 2.

MR. QUINN:  Okay.  I'm going to take your cue there, because it gets into the facilities downstream.

But then turning to the cost implications, Mr. Tetreault, you were describing with Dr. Higgin how costs were allocated, and as just a simple summary statement, I understood that I -- using that schematic again, BOMA 9(c), (d), and (i) would be considered storage compressors; (j), (e), (f), and (h) are transmission compressors.

Do you know which have both transmission and storage capability?

MR. LAMOUREUX:  So we would have to go through, like, the entire list if you want, but --


MR. QUINN:  Well, maybe just -- because in respecting that there are different people on each panel, could you go through those -- each of the individual compressors and just say how they're allocated, functionalized, to use Mr. Tetreault's words, between storage, transmission, and those that are both storage and transmission?

MR. TETREAULT:  Yes.  We can do that, Mr. Quinn.

MR. QUINN:  Okay.  I think that would be helpful.  That is primarily, Mr. Tetreault, why I wanted you on the panel.

MR. MILLAR:  JT1.6.
UNDERTAKING NO. JT1.6:  TO GO THROUGH EACH OF THE INDIVIDUAL COMPRESSORS AND SAY HOW THEY'RE ALLOCATED, FUNCTIONALIZED BETWEEN STORAGE, TRANSMISSION AND THOSE THAT ARE BOTH STORAGE AND TRANSMISSION.

MR. QUINN:  Sorry, Mr. Millar.  I want to make sure we understand that, because I was trying to understand and differentiate.

There was the allocation methodology which you rightfully placed in 2013-0365, when the cost allocation study was updated.

Plant H, as it is currently configured, here or in terms of how you were going to use that plant H and how you are going to functionalize the cost, would you be describing the cost drivers that would change between what plant B was utilized for and what plant H is going to be utilized for?  Would that be in Dr. Higgin's undertaking response?  If not, we could do it as a separate undertaking.

MR. TETREAULT:  Yes.  Perhaps, Dwayne, we can take a separate undertaking.  I think the scope of Dr. Higgin's undertaking wouldn't do it.

I guess I can say that that plant H is providing a transmission service.  It will also, therefore, provide transmission compression horsepower on design day.  And that is somewhat different than what plant B can do.

Plant B, on design day, my understanding is it also provides transmission compression horsepower, but it has the ability to provide -- plant B, that is -- either storage or transmission service.  So they are different.  They are different units doing different things, if you will.

MR. QUINN:  Okay.  Well, I was conscious of not tramping over what Dr. Higgin asked for, so if we could do that as a separate undertaking, that would be helpful.

MR. MILLAR:  So it's JT1.7.  Could you repeat what the undertaking is for, Mr. Quinn?

MR. QUINN:  It is to differentiate the cost drivers that would be in play and would direct the cost allocation for the differences between plant B and the new plant H.
UNDERTAKING NO. JT1.7:  TO DIFFERENTIATE THE COST DRIVERS THAT WOULD BE IN PLAY AND WOULD DIRECT THE COST ALLOCATION FOR THE DIFFERENCES BETWEEN PLANT B AND THE NEW PLANT H

MR. TETREAULT:  I guess, Dwayne, just to add, you do have my answer.  I'm not sure what I will have to add to that by way of undertaking, but I can give that some consideration.

MR. QUINN:  Well, the percentage allocations initially, and are you accepting of providing at least the percentage allocations?

MR. SMITH:  Yes, that's fine.

MR. QUINN:  Okay.  Because the next question, then, comes down to, Mr. Hockin confirmed, and it was helpful to know that the surplus -- surplus capacity, I think Mr. Redford called it -- that would be not able to be utilized on the Dawn-to-Parkway system that plant H creates.

How would that surplus capacity be treated and how would it be allocated?  Would it be proportional to its overall utilization, Mr. Tetreault?

MR. TETREAULT:  So Mr. Quinn, 100 percent of Dawn H is included in this application.  So part of our preapproval to include the cost consequences in rates includes all of Dawn H.  So the costs associated with Dawn H will be treated as transmission costs and allocated to rate classes based on design-day demands into the Dawn-to-Parkway system that require Dawn compression.

MR. QUINN:  So if I am understanding your answer, your proposal is to take 100 percent of the Dawn H cost and allocate them directly to transmission costs and do that under the incremental capacity on the Dawn-Parkway system of 456.

MR. TETREAULT:  Well, the allocation of costs at Dawn, for Dawn H, based on the design-day demands, will include the project demands of 456.  Obviously you are adding those incremental project demands to your existing design day allocator, but, yes, that is the process.

MR. QUINN:  So at the margin, 100 percent of Dawn H gets added to 456 of capacity, but 100 percent to transmission?

MR. TETREAULT:  I wouldn't quite describe the first part of what you said that way.  So Dawn H is 100 percent transmission.  We will utilize design-day demands at Dawn requiring Dawn compression, and included in the allocator are now the project demands of -- I think it is 452 are the actual demands.

So costs are allocated on demands, not capacity.  So there is a small difference between the 456, obviously, and the 452 that we have executed contracts for.  And, Dwayne, I should clarify.  The 452 are the overall project demands.  I recognize some of those demands are met from Kirkwall, so obviously those demands aren't included in the design-day allocator for Dawn.

MR. QUINN:  I appreciate you are being very helpful, Mr. Tetreault, so I'm going to defer my question about the sources demand from Kirkwall and how those are -- well, maybe I should be asking.  From just a cost-allocation perspective, how are those treated differently?

MR. TETREAULT:  A few different -- perhaps two different answers to that.  As it relates to determining the design-day demand allocator at Dawn, Kirkwall demands are excluded because, as you would expect, Kirkwall demands do not require Dawn compression.

And then in terms of the allocation of Dawn-to-Parkway costs to rate classes, so that is a different allocator, as Dr. Higgin and I talked about.  That is a distance-weighted design-day demand allocator or what we would also refer to as a commodity kilometre allocator.  And the Kirkwall demands are included in that allocator, and they're included based on the distance that gas flows, roughly, 40 kilometres from Kirkwall to Parkway, as opposed to the entire length of the Dawn-Trafalgar system.

MR. QUINN:  Okay.  Well, maybe we can make this practical.  In the response that we discussed earlier -- so I don't think you need to turn it up -- there was a Keystone contract that was being turned back in 2000 -- I may need to turn that back up.  I'm just not sure I have the reference, because it was in my -- if you will just give me a moment, unless somebody has a reference for the Kirkwall contract.  I just want to make sure we have the right dates.

The Keystone contract in FRPO interrogatory -- I might have said Keystone, Keyspan -- no, that's not it.

What I am trying to get to is to get the specific detail, Mr. Tetreault, so you can consider your answer.  Here it is.  Actually, my mistake; it is actually in ANE 2.  I made a footnote back to a FRPO interrogatory, but the actual content is 138,000 of Dawn-to-Kirkwall capacity, which will terminate as of November 1, 2015.

So if I understand Mr. Redford's answer earlier, that Dawn-to-Kirkwall capacity will be utilized for Dawn Parkway turnback?  Did I get that correct, Mr. Redford, or maybe you can help me with how that capacity is being utilized?

MR. REDFORD:  Yes.  That's not quite correct.

I think the Keyspan -- and, again, Dan Wallace can confirm this on panel 2, but that Keyspan volume, the turnback is being used as part of the relief of the Parkway delivery obligation.

MR. QUINN:  Okay.  That is not what I said.  But we will check with Mr. Wallace and get a more specific understanding.

But to your point, Mr. Tetreault, you've got Dawn- Kirkwall capacity that is being converted into Dawn-to-Parkway capacity.  How does that affect your cost allocation that you just described in terms of the treatment of Dawn-Kirkwall being exempt from the Dawn compression?

MR. TETREAULT:  Mr. Quinn, I'm not sure we're on the same page.  I did not say that Dawn-Kirkwall demands are exempt from Dawn compression costs.  What I was referring to were demands that originate at Kirkwall.

So there is roughly 85,000 of demands from Kirkwall to Parkway as part of this application and those demands, if you will, do not -- they are not included in the updated design-day allocator as it relates to allocating Dawn compression costs.

MR. QUINN:  That makes more sense than the way I heard it the first time, Mr. Tetreault, so thank you for that clarification.

So because they're originating -- the 85,000 is originating, you are not allocating any -- no Dawn H costs would be allocated to that 85,000?

MR. TETREAULT:  Yes.  That's right.  We don't include those demands in the allocator.

MR. QUINN:  So is the 85,000 included in the 452,000 that was used to allocate the entire costs across the capacity that was available?

MR. HOCKIN:  Can you try the question one more time?

MR. QUINN:  I had understood it was 456 was capacity that was created from Dawn to Parkway.

Mr. Tetreault said the cost is allocated by the contracts, not the capacity, if I understood that, so the number is 452.  So was the 85,000 included in that 452 for the purposes of allocating those Dawn-to-Parkway costs from emanating from the Dawn H plant?

MR. TETREAULT:  Yes, they are, Mr. Quinn.  That is what I was alluding to earlier, that we need to obviously allocate the Dawn-to-Parkway costs associated with this project to rate classes.  We do that using a distance-weighted design-day demand allocator, also known as the commodity kilometre allocator.

The 85,000 of incremental Kirkwall-to-Parkway demands associated with this project are included in that updated allocator, and they are included based on the distance those demands travel, which is the 40 kilometres approximately from Kirkwall to Parkway.  They're included in the same way that the demands from Dawn to Parkway are included.  It all rolls up into updating the overall commodity kilometres or distance-weighted design-day demands on the Dawn-to-Parkway system.

So the quicker answer is yes, they're included.

MR. QUINN:  They're included.  That is the part that  -- I apologize if I am not understanding this, Mr. Tetreault.  But you said they're included for the basis of the 40 kilometres that it travels from Kirkwall to Parkway.  But these are the Dawn H costs?

MR. TETREAULT:  No.  Let me try it again, Mr. Quinn.  There are two types of costs from a cost-allocation perspective, and these are all transmission costs.  There are Dawn station transmission costs.  That, in this case, is plant H in terms of this project.  The other costs, those at Lobo and Bright, are Dawn-to-Parkway transmission costs.

The allocator of Dawn -- the allocator for Dawn station transmission costs is different than the allocator for Dawn-to-Parkway costs.  The allocator for Dawn station costs just includes design-day demands on the Dawn-to-Parkway system that require Dawn compression.  So said a little bit differently, that excludes any demands that don't require Dawn compression, i.e., Kirkwall-to-Parkway demands.

Dawn-to-Parkway costs are allocated based on a commodity kilometre calculation, and all demands on the Dawn-to-Parkway system are included in that allocator, and they are included based on the design-day demands and the distance those demands travel on the Dawn-to-Parkway system.

So, in the case of incremental Kirkwall to Parkway demands, the 85,000, they are included in the allocator based on the distance they will travel, which is the 40k.

MR. QUINN:  I am looking forward to reading the transcript and hopefully being able to decipher that, but thank you.

My question at the end of that is -- you have taken an undertaking for it, and I asked about differentiating the drivers for the allocation of costs that are different for plant B and plant H.  Is it your understanding -- and I would like to make sure we're clear -- that you would be doing that on the basis of what the costs are for this application?

So, in other words, this 85,000, if it needs to be differentiated, you could make that clear in the undertaking?

MR. TETREAULT:  Yes, I suppose that is true, Mr. Quinn.

My struggle -- I will consider this in the undertaking.  I should note that, in terms of how we're allocating Dawn costs, Dawn H, and how we're allocating costs on the Dawn to Parkway system related to this project -- which are Lobo and Bright -- we are using Board-approved methodologies to do both of those things.

MR. QUINN:  I understand that, and I'm not concerned about that, Mr. Tetreault.  I appreciate you have given us clarity in other areas.  But this is where the rubber hits the road.  You have a plant that is serving different loads differently.  So if you could just differentiate those drivers for the purposes of cost allocation, that would be helpful for us to understand that.

MR. TETREAULT:  We can do so.  As I said, Mr. Quinn, I think I may have answered that.  But we will see what we can supplement in the undertaking response.

MR. QUINN:  Okay.  Thank you, sir.

The bigger question out of this possibly is -- and Mr. Garner was helpful in getting clarity around what is being requested in terms of preapproval, and the sections 90, 91, and 36, I will have to reread again.

But going back to what is being asked for, I thought I understood Mr. Smith to say that it is being applied for as used and useful.

To the extent that you have surplus capacity at Dawn awaiting takeaway capacity -- that is a simplified way of saying it -- how does that meet the criteria of used and useful?

MR. SMITH:  Well, Mr. Redford has already answered that question.  He has answered that you can't perfectly match the capacity at Dawn with the capacity on the Dawn-to-Parkway system, and the capacity at Dawn is used or useful, and it is all being included in the application.

MR. QUINN:  Well, it is surplus, and maybe I will test my understanding with the witnesses again.

Mr. Redford, you had said, you know, that there is excess capacity.  I thought I understood also that the plant H has both storage and transmission capability.  Do I have that right?

MR. SMITH:  No, that is not what he said.

MR. QUINN:  Okay.  Then who on the panel can answer that?

MR. LAMOUREUX:  So it is transmission only.  So if we go back to the design of Dawn H, again, you can't get the perfect match.  But Dawn H is used in our standard compressor design.  The same design as we have used at Parkway for C and D.

There are significant benefits from both a cost and a timing perspective to stay with the standardized design.  You save substantially from the engineering perspective.  You save substantially on the upfront costs from a timing, and then once in operations, you simplify it to a great degree, but people are actually operating the plants, because now you go from one plant to the next plant, and the plants are the same.  You save on number of components that you are having to stock from a spare-parts perspective.

So overall, I mean, although you have got surplus capacity, you are bringing it in at a lower cost than if you were to try to make an attempt at matching one-for-one.

MR. QUINN:  Just like in the realm of pipeline, it is lumpy between mainline valves.  I get that.  But what I guess I am trying to understand is:  What would the 500 TJs per day capacity be used for if -- let's say there is not a 2018 and beyond build out of Dawn.  What is that capacity going to be utilized for?

MR. REDFORD:  Well, first, I would say I'm not sure I would buy into the premise that there will be no further Dawn-Parkway capacity requested.  So --


MR. QUINN:  That is my premise, sir.  I'm just saying, if there is none, what would that capacity be used for?

MR. SMITH:  Well, it is perfectly appropriate for the witness to disagree with the premise.  He's the Union witness.  It is perfectly appropriate for him to say, "I don't agree with that."

MR. QUINN:  What I'm trying to understand, Mr. Smith, is the promise of future builds is something that there is no evidence here that there is going to be one.  There might be one.  We agree that there may be an opportunity for one.

But in a scenario whereby there is no additional build for Dawn-to-Parkway capacity, what would that capacity be used for?

[Witness panel confers]


MR. REDFORD:  Well, I guess the short answer is that it would remain excess capacity until a point in time when there would present a need for it to be utilized.  Whether that is demand -- I mean, other reasons that may be utilized, we're in a spot where we are replacing plant B.

We have -- and it could be used for purposes similar to that in the future as well.  So it would remain excess capacity until an opportunity to utilize it came up, whether it is through incremental demand or otherwise.

MR. QUINN:  I think I understand that.  So it is related 100 percent to transmission.  There is no opportunity to use that for storage?

MR. REDFORD:  That's correct.

MR. QUINN:  Okay.  Thank you.

Now, I may have the wrong panel, because I was -- and maybe if there is detail that could be added -- I'm sensitive to Mr. Wolnik, because I know he had some time commitment, so I am actually -- I have a question that, if Dan is going to be on the next panel also, then I will defer to the next panel.

I think that those are my -- oh, one follow-up question, Mr. Redford.  You talked about that conversion factor converting Dawn-Kirkwall to Dawn-Parkway capacity.  Do you have just a round number conversion factor that Union uses for those purposes?

MR. REDFORD:  No.  I am going to defer to Mr. Wallace.  I think it changes as the system changes.  So he's -- he can give you a much better answer on that.

MR. QUINN:  Okay.  Thank you, Mr. Redford.

Operations VECC 1, last line of questions.

Mr. Wolnik, did you need to jump in here for your timing?

MR. WOLNIK:  How long are you going to be, Dwayne?

MR. QUINN:  Five to 15, depending on the result here, because I thought it was just going to be a panel 2 question.  I don't mind, John, if you want to jump in.  I respect that you had some time commitment.

MR. WOLNIK:  That would be helpful if you don't mind, then.

MR. QUINN:  Yeah.  Go ahead, please.
Examination by Mr. Wolnik:

MR. WOLNIK:  Thanks.  Good morning, panel.  I just have two question areas.

The first one relates to APPrO 1, and I had requested a bit of an update on kind of TransCanada's processes in getting their downstream facilities in place, and you had provided that, so that is helpful.

I wanted to just talk a little bit about what would happen in the event that TransCanada is delayed, because I do understand that their current Kings North pipeline has experienced some -- experiencing some land issues.

So to the extent that that same issue does materialize with the Vaughan extension, I understand that could impact how your shippers might use that downstream capacity.

In response to APPrO 1, I think on page 7 -- you don't have to turn it up, but you are welcome to do that -- you talked about all M12 shippers and in-franchise shippers being responsible for the costs once that project goes into service, and I understand that.

If TransCanada were to have ongoing problems in terms of timing, getting this in place within -- by November 17, if those shippers -- if the TransCanada shippers and your shippers came to you and asked you to defer your project a year to better align with TransCanada's in-service date, is that something that Union would implement?

MR. REDFORD:  I think, for practical purposes -- well, let's take a look.  Let's roll it back a bit, and I will come back to the question.

First of all, we're comparing the Vaughan mainline expansion to Kings North, and they are in similar areas.  The Vaughan mainline expansion is being applied in relative scheduled terms about nine months prior to when TransCanada applied for the Kings North project.

So to suggest that Kings North and the Vaughan mainline expansion are in the same boat is not correct.  We expect that TransCanada would file the Vaughan mainline expansion before the end of this year.

So I don't think you can strictly compare the two.  By the time -- you know, if there was a delay -- and they are giving themselves ample time to work through any issues they have, whether they're land issues, routing issues -- I think by the time that TransCanada understands that they're going to be delayed, our compression will be largely built.

So the opportunity for us to say we're going to -- you know, we're going to delay a year; we'll have a lot of money spent by that point in time.

We're both accountable to our shippers to meet November 1, 2017.  Union is moving forward to meet November 1, 2017, no different than we did November 1, 2015 and November 1, 2016, and we're assuming that TransCanada is doing the same, moving forward for the Vaughan mainline expansion November 1, 2017.

So I think, you know, it would be unfair to say that they are behind schedule at this point.  I think they've done what they've needed to do to learn from the Kings North project and have built time into their schedule to deal with it.

MR. WOLNIK:  Thanks, Jim.  I wasn't suggesting that they weren't applying in a timely basis.   But clearly in both cases there's -- and maybe more in TransCanada's case -- there are things that are outside their control.  And I appreciate they are applying early.  So I didn't mean to suggest that they were not acting in an appropriate fashion.

So getting back to the final question, then -- of the question, if your shippers came to you and said, could we defer this a year, even though you may have -- you may be well under construction, is that something Union would entertain?

MR. REDFORD:  I don't know how we would recover costs in that vein.  I don't know how -- I'm not sure why we would choose a year to defer it.  I think Union would go ahead and build its facilities for a November 1, 2017 in-service date.  We would expect TransCanada would be doing what they need to do to do the same.

MR. WOLNIK:  Okay.  Thank you.

I would like to just follow up from some of Dwayne's questions on -- I think it was APPrO 5, related to the term-up provision.  And I recall your answers on that issue.

So my question is:  Did Union ever quantify the risk reduction benefit from this term-up provision?

MR. REDFORD:  Well, I think the purpose of the term-up provision would be to see whether we are rationally expanding the system, so to the extent that people give us indication that they're not terming up, then we can take that into account when we design our facilities.

So I'm not sure -- I mean the purpose is really around facility expansion.  So I am not sure we've -- you know, I'm not sure we have quantified, you know, quantified what the impact is, other than it is another tool to manage capacity on our system, particularly in time of an expansion.  So we have reverse open seasons that we can do, and the other tool we're looking to add is a term-up provision.

MR. WOLNIK:  I appreciate that.  But you're implementing this, and this is going to have some commercial consequences on the shippers.  It would be helpful to understand what the benefit is and, as I understand it, you have not really quantified that benefit, so --


MR. REDFORD:  Well, I think we would have to have a circumstance where we have a build in 2018 and beyond as well as, you know, how much capacity is termed up or not termed up.

MR. WOLNIK:  But you have not done any quantification of this risk reduction?

MR. REDFORD:  No.

MR. WOLNIK:  Thank you.  Maybe just a question for Mr. Sloan, since he is on the panel.  I assume he is still there?

MR. SMITH:  Yes.

MR. WOLNIK:  Mr. Sloan, do you know of any U.S. pipelines that use the term-up provision?

MR. SLOAN:  I was going to say I'm not aware of any, but there may have been some older pipeline projects that did that.  I would say no, and if that is incorrect, I will revise that answer.

MR. WOLNIK:  Okay.  Thank you for that.

Are you also aware of any other strategies that U.S. pipelines use to sort of accomplish the same goal, other than, you know, the reverse open seasons?

MR. SLOAN:  No, I'm not.

MR. WOLNIK:  Okay.  Thank you.  Those are my questions.  Thank you very much.

Thanks, Dwayne.

MR. SMITH:  Thank you, Mr. Wolnik.

Dwayne, back to you.
Continued Examination by Mr. Quinn:


MR. QUINN:  Yes.  No problem at all, John.  Thanks because it helped me identify another question I hadn't asked, and this is probably appropriately asked with Mr. Sloan still here.  I had it as a facility question, but it refers to Union Gas's evidence.

There is a number of references I can give you, if it would be helpful, like page 16 -- maybe we can start there -- of the ICF report.  It is related to facilities questions, so I will ask Mr. Sloan his view, and I can ask Mr. Wallace his view, if that is appropriate.  But I wanted to make sure we were talking about the same thing.

I can just read it in, and hopefully we will find it in that page, so you can look at it.  It says:  "ICF expects natural gas consumption in Ontario to experience modest growth by expanding use in the power sector.  Higher utilization of existing units in Ontario and potential gas-fired additions will be driven by modest demand growth, retirements of nuclear capacity, and replacement of nuclear capacity while nuclear refurbishments take place."

There is another reference, but I guess I will just stop there, because, in BOMA 8, they asked about the incremental -- the impact of incremental electric generation.

And assuming that there is no change in the number of plants, would you say that the increased growth in electricity generation from natural gas will not have a facilities impact?

MR. SLOAN:  To the extent that all of the plants hold firm capacity for the full amount of the capacity, that's true.

To the extent that they don't, obviously increases in demand would have an impact.

MR. QUINN:  Maybe it is the sound in here, Mr. Sloan.  Did you say it would not have an impact, if there is no additional plants?

MR. SLOAN:  If all of the plants are currently holding firm pipeline capacity sufficient to meet the full requirements of the plant, then there would not be an additional facilities demand for pipeline capacity.

To the extent that that is not the case, then there may very well be.

MR. QUINN:  Okay.  I think my questions, the rest of them, may be better answered by Union's facilities people in terms of their assumptions.  So I will defer that portion to panel 2.

Coming back to the operations, and if you could turn up VECC 1 --

MR. TETREAULT:  We have it, Dwayne.

MR. QUINN:  Thank you.  So the first question was -- it was asking about explaining why it is necessary to replace plant B, when Union was able to operate without this unit for the last year.  That is in part (a), and there were three sub-bullets I would like to understand better.

The first sub-bullet says that Union had 0.8 PJs of excess capacity at Dawn during the winter of 2014-2015, which is what Mr. Redford, I think, was referring to before about that opportunity, but it was utilized for 2015 and 2016.

Could Union, just by a simple undertaking, provide what the exact -- because you said there is no matching.  But now I see it is being exactly taken up.  Could you specify exactly how much capacity was available at Dawn prior to the 2015-16 builds and how much Dawn to Parkway takeaway capability was created by those 2015 and 2016, so we could see the match?

MR. REDFORD:  So you want something more specific than the 0.8 PJs?

MR. QUINN:  Yes.  What was the excess capability and then the amount that was taken up as a result of 2015 and 2016 Dawn to Parkway system expansions?

MR. REDFORD:  We could --


MR. SMITH:  So just so I understand, Mr. Quinn, is your question how much of the 0.8 PJs was taken up in 2015 and how much of the 0.8 PJs was taken up by the 2016 expansions?  Is that what you are asking?

MR. QUINN:  More precisely, what was the excess capacity more specifically in the winter of 2014-15?  What was that capacity, and then what was the takeaway capability that was generated as a result of the 2015 and 2016 builds?

Then there should be a net number.  It could be surplus; it could be deficit, but we would just like to examine that.

MR. REDFORD:  So just let me get this right.  You want winter 2014-2015 capacity available at Dawn, the 0.8 PJs, I also assume, broken down to TJs, and you would like it again at November 1 of 2016, which would include the 2015-2016.  So what is it after November -- like, what is it at November 1, 2016, is really the question.

MR. QUINN:  That's --


MR. REDFORD:  I mean, regardless of takeaway on the system, there is other puts and takes.  I think what you're asking is what was it at November 1 of 2014, and what was it again at November 1 of 2016.

MR. QUINN:  I would like 2015, too, sir, because it should be an arithmetic exercise in between.  But if those puts and takes make some sense to us, then we would like to see that.

MR. REDFORD:  I am not going to speak -- Mr. Wallace can speak further on this.  I am not sure it is exactly an arithmetic exercise, because there’s lots of things that go into the Dawn yard, including the fact that it serves the panhandle system.

So I think -- you know, I think it is easiest, what was the excess capacity -- we can do it at November 1 of 2014, November 1 of 2015, November 1 of 2016.  I think that would answer your question.

MR. QUINN:  Yes.  But if you could tie that into the utilization of the Dawn-Parkway system, if there's some that goes to panhandle, then just separate that out.  I think there's -- it is actually in that BOMA 9.  It shows the panhandle system also being fed from Dawn.  If there is incremental from the panhandle system or serving the panhandle system that took up that capacity, then just break that out.

MR. REDFORD:  It could be lots of things.  So my preference would be to say:  Here's the excess capacity at Dawn, and here's what is coming out of Dawn for the 2014 -- or, pardon me, the 2015 and 2016 expansions, Dawn-Parkway expansions.

MR. QUINN:  We're going to be left with what's the difference, and if the difference is simply it was flowed to the panhandle system, if you could just differentiate that, and the numbers would add up?

MR. SMITH:  I think you have what we're prepared to do.  And when you see the answer, if you are dissatisfied, there are remedies available.

MR. QUINN:  I will take the undertaking, and then possibly through a discussion with Mr. Wallace, I will be able to narrow the question that would not create a lot of work but would just create understanding.  So I will take the undertaking of what has been offered at this point.

MR. MILLAR:  It's JT1.8.
UNDERTAKING NO. JT1.8:  TO ADVISE WHAT THE EXCESS CAPABILITY AT DAWN WAS AND THE AMOUNT THAT WAS takeN UP AS A RESULT OF 2015 AND 2016 DAWN-TO-PARKWAY SYSTEM EXPANSIONS, SEPARATING WHATEVER GOES TO PANHANDLE

MR. QUINN:  Thank you.

Now, it also then refers to, in the third sub-bullet, about the storage levels were above forecasted design levels.

Stop me again if I should be talking to Mr. Wallace about this.  But if we turn up BOMA 9 again, that was a helpful little picture that was drawn.  I'm trying to understand.  Union's storage levels were higher.  And stop me again if I should talk to Mr. Wallace or if I have said something incorrect.  The Union storage levels are higher.  Then, does that mean that the compressed number of 4,826 was exceeded?  The capability to exceed that was there on February 15th?  Is that a reasonable assumption?  Is that what that means when it says:

"Storage levels were above forecast design, and therefore less compression was required."

MR. LAMOUREUX:  So the design-day conditions assume a low storage level.  So storage was higher than what you would see with the modelling for the design day is a simple answer to your question.

You also have got to be a little bit careful in terms of comparing the charts.  I mean, this is talking about the winter of 2014/2015 versus the diagram, which talks about a different time period.

MR. QUINN:  Okay.  Then I will ask it more generically.  If the storage levels are higher, C, D, and I can create pressures beyond the minimum level required to feed J, E, and F for designing conditions, is that a way of saying it?

MR. LAMOUREUX:  If the storage levels are higher, the pressure is higher, so there is less of a need to compress.

MR. QUINN:  So the 4,826, is it a minimum pressure required for design day to feed J, E, and F?

MR. LAMOUREUX:  The 4,826 that pumps it up to the Dawn yard pressure.

MR. QUINN:  But is that a minimum or a maximum?  Is that the maximum pressure, or was that the minimum to meet design conditions?

MR. LAMOUREUX:  Well, again, you are focusing kind of like in the centre of the model.  I mean, if you look at really what the output into the Dawn to Parkway system, which to me is the more relevant number, again, you can only provide so much lift, and so you can't send it direct without doing that initial boost in between.

And so we can -- again, if we want to talk about the complete modelling of the Dawn-to-Parkway system, then it is one that will have a more robust discussion with Dan on the panel as well.

MR. QUINN:  No.  Maybe it is best I defer that, because I think I understood part of your question, and I know I am trying to work towards the output pressure, which is depicted at 6,160.  I am just saying this answer says a component of how we got there back in February with less -- without this plant B compressor is what I am trying to understand.  Is that question best answered, then, by the second panel?

MR. LAMOUREUX:  So why we didn't have an issue -- let me go back to VECC 1.  So, again, it is a bit of a combination of different factors.  I think the other thing that you don't really see stated there is that there were also no other units that were out.

So we do have the LCU coverage, which is G, which covered off the absence of B not being available.

MR. QUINN:  That's not in the answer?

MR. LAMOUREUX:  It is.  It is in the -- subtly it is in there, in terms of adequate storage inventory and compression availability.

MR. QUINN:  Okay.  That is important.  We've spent a bit of time on the LCUs around here over the last few years.  Plant G was operating on February 15th, you're saying?

MR. LAMOUREUX:  Well, I don't know about that specific day.  Plant G was a replacement for plant B, because B was out of commission.  So there is a high likelihood on that day that G was operating.  But because we didn't hit all the design-day parameters, that doesn't mean we -- well, it means we didn't have to have all units online.

MR. QUINN:  So you are on the second panel also?

MR. LAMOUREUX:  Yes.

MR. QUINN:  I want to respect other people have questions, so I will get into more detail on that on the next panel.  Thank you.  That is helpful to understand, because that is a differentiating factor I didn't read in here.

Okay.  Those are my questions, Mr. Millar.  Thank you.

MR. MILLAR:  Thank you, Mr. Quinn.

Who else for panel No. 1?  Mr. Garner?
Examination by Mr. Garner:

MR. GARNER:  I have very few, but since we're on this interrogatory, VECC 1 -- and I know Mr. Quinn -- probably well aware of LCU, et cetera.  You had put a reference in here for me to -- or for us to read on the issue of LCUs, and I went and tried to find it, and I am afraid I can't.  I'm wondering if you would be of assistance and give me the -- as an undertaking give me the pages that you've referred to in here and just file it with us so I can read them rather than take up any of your time on that issue.  Can we do that?  That is pages 50 to 53 of 2012-0433.

MR. SMITH:  I'm sorry, Mr. Garner.  I don't -- what do you want that is more specific than pages 50 to 53?

MR. GARNER:  Nothing.  I couldn't find -- did you file 50 to 53?  I couldn't -- I think you are referring to them.  Did you also file them in here?

MR. SMITH:  No, no, no, they haven't been filed.  That is just a cross-reference to that filing.

MR. GARNER:  Right.  Exactly.  And I couldn't find the filing, so I'm just asking you the -- I couldn't find the actual pages 50-53, this, so I am just asking you to produce them as an undertaking and file them in this case.

MR. SMITH:  That's fine.  I'm --


MR. GARNER:  That's the simple -- sorry, maybe you think I am asking for something more complex.

MR. SMITH:  No.  I understand.  That's fine.  It is because of the Board's website.  It is also -- it was a proceeding that involved three different dockets, and you probably are looking under the wrong --


MR. GARNER:  Maybe that's why --


MR. SMITH:  We will file it.  It's fine.

MR. GARNER:  -- before and I couldn't find it.  That is all it really amounted to, so thank you.

MR. SMITH:  It is under 0074.  That's fine.

MR. MILLAR:  JT1.9.
UNDERTAKING NO. JT1.9:  TO FILE PAGES 50 TO 53 OF THE ABOVE-MENTIONED DOCUMENT.

MR. GARNER:  Thank you for that.

I think my first question, really, it goes to -- it's I think for you, Mr. Hockin.  And I don't think I need a particular IR for it, although there was one in here -- or there was a number in here.

I am looking, for instance, at BOMA 14.  If I understand the evidence on the economics of this project, the evidence is that the project under any of the bases that you have run it has a net present value of less than 1, i.e., it is not profitable in that sense.  Is that correct?

MR. HOCKIN:  That's correct.  Given the incremental revenues and the 622, 23 million dollars (sic), it has a PA of less than one.

MR. GARNER:  Okay.  So help me conceptually understand what is happening if the Board approves the project.  Does that imply that, if the project isn't profitable, that -- where do the funds that create -- I mean, Union isn't putting it in in a loss, I take it.  They're not taking it out of their profit line.  So where does the funds that make it profitable for Union to put in the assets come from?  How does that work conceptually?

MR. HOCKIN:  In simplistic terms, there is a --


MR. GARNER:  That's the best for me.

MR. HOCKIN:  -- there is a revenue requirement schedule in Schedule 10.1 -- tab 10, Schedule 1, that indicates:

"This is the revenue requirement to meet the costs that are associated with the project."

And then through the cost-allocation and rates group, they will put that figure into their models, and they will attribute additional incremental demands, and there will be rates come out the other end of that process.

MR. GARNER:  And those rates, though, don't recover -- or those rates recover the full profitable costs of the project.  I am still trying to figure -- that's correct, isn't it, because those rates have your return based on unit?

MR. TETREAULT:  Yes.  Rates -- as Mr. Hockin said, rates will recover the forecasted revenue requirement associated with the project.

So for certain rate classes, certainly it is true of the M12 rate class.  As a result of that, rates will increase.

MR. GARNER:  Right.  Is there any scenario -- did you run any scenario under which this project has a net present value greater than -- or of one or greater?

MR. HOCKIN:  The net present value is within the evidence, including the stage 2 and stage 3 benefits.  It is approximately $126 million.

MR. GARNER:  Now, on stage 2, my understanding was you didn't run stage 2.  You have in your evidence that you didn't run it.  And this was going to be my next question, because I believe you say the analysis was not quantified in this case because in-franchise use of the project is based on new firm north transportation service.  That references Exhibit A, tab 9, Page 5, updated.

So you didn't run stage 2.  I guess, Mr. Hockin, the first question:  Did you?

MR. HOCKIN:  We did not quantify stage 2 within the figures.

Maybe for all participants, we could just frame what stage 1, 2 and 3 is so that everybody starts with a common understanding.

Stage 1, kind of in layman's terms, is cash flows that occur through Union's hands.  Capital expenditure for a facility, revenue from customers, O&M expenses, et cetera.  So stage 1 is only cash attributable to Union.

Stage 2 is a broader mechanics, and generally people consider that to be energy-cost savings, so energy-cost savings that would accrue to an end user that doesn't run through Union's cash register, so to speak.  So that is not part of stage 1, but that is a set of criteria that could be included within the scope of a generalized EBO 134 approach.

Stage 3 kind of goes one step beyond that and says, well, if we're not talking about energy-cost savings, are there other benefits that can be quantified, and are there other benefits that can't necessarily be quantified?

So we have quantified, for purposes of this evidence and for other previous applications, the figures that would be attributable to stage 3, and that is where that table -- my table 9.1 indicates that we have a positive NPV of 123 million.

In addition to that, as we said, there are other benefits which are outside of these mathematics, and that would presumably be energy-cost savings by the shippers, or the end use consumers of those shippers.

MR. GARNER:  Okay.  Thank you.  But can we go back to Exhibit A, tab 9, where you talk about why you didn't do stage 2?

I'm sorry.  I just don't understand the response, and maybe I am the only one in the room.  You say you didn't do it because the proposed project is based on new firm north transportation service rather than incremental growth in energy demand using gas, et cetera.  Can you help me with that, and give me a little bit more, a better understanding of why you didn't run the stage 2?

MR. HOCKIN:  The customers that would be using this, as I understand, for Union North, are gas customers and they are going to be choosing one supply point versus another.  We did not go to a stage of trying to quantify specifically how -- what their supply point is and their gas cost is under situation A versus situation B.  So we didn't try to quantify that.

MR. GARNER:  Hmm.  Okay.  Thank you.

Is it typical for these projects, these Dawn-to-Parkway projects, to have net present values of less than one?  Is that a typical thing in -- there's been a number of them over the last few years, so I am just wondering.  Typically, is that what you see?

MR. HOCKIN:  Stage 1 has been less than one for the 2015 project, the 2016 project, and this project.

MR. GARNER:  All right.  Okay.  Thank you.

Let me just bring back my -- I don't know if this question is for the next panel, but I will just ask it.

MR. SMITH:  Ask away.

MR. GARNER:  Yes, ask it.  The plant B replacement, we had asked in VECC 1 how much had been spent on the current plant since 2010.  There was an answer given of $3 million.  I'm wondering -- and I know that the actual cost of the compressors now is subject to confidentiality, but the engines, which are quite common, can you give me a sense of, of that $3 million, the proportion of the cost of a new compressor that would represent?  Would that be a significant portion of a new compressor or not?  I'm not looking for any exactitude in the answer.  I'm just wondering how to look at that $3 million investment which was, I take it then -- is now written off.

MR. LAMOUREUX:  So the $3 million refers to the maintenance costs or repair costs for Dawn B over the last few years, which encompasses the entire facility.  So you would be comparing it against one of the plants.

MR. GARNER:  Oh, I see.  So I had taken the answer to mean that this was -- there was, as I understood it, some special maintenance, let's call it, done on this compressor because of some issues.

MR. LAMOUREUX:  Yes.

MR. GARNER:  And then there was a failure of the compressor subsequent to those maintenances; right?

MR. LAMOUREUX:  Yes.

MR. GARNER:  So the $3 million, first of all, doesn't represent that special exercise, so to speak.  It represents all of the amounts?

MR. LAMOUREUX:  It represents, I would say, a big portion of it.  So it was with reference to the engine itself in terms of -- so the majority of that $3 million will be repairs to the jet engine.

MR. GARNER:  Right.  I don't want to quibble, if that is the case.  I still would then like to understand.  Does that $3 million represent a significant portion of a new compressor as an investment, or is it not a material difference?  Can you give me a sense of that?

MR. LAMOUREUX:  It is not relative to the cost of the entire compressor plant.  If you want to do a comparison --


MR. GARNER:  I just want to talk about the compressor because that is what was being repaired.

My question is quite simple.  My question is you spent $3 million, or roughly, as we just talked about, on trying to fix something.  My question is:  What was something brand new, if you had just bought it three years ago?  I'm not second-guessing you.  I'm just trying to understand the relative amount that was then spent on that.

MR. LAMOUREUX:  It represents a significant portion, so whether or not that is, you know, between 25 and 30 percent.

MR. GARNER:  Okay.  So just to say it back to you, so, roughly, since 2010, roughly 30 percent was spent trying to rehabilitate this compressor that then has to be taken out of service now?

MR. LAMOUREUX:  Yes.  And the reason it - sorry I'm being a little bit vague -- is it makes a difference in terms of which engine you're buying.  It makes a difference in terms of whether or not you are buying an engine as part of an expansion project, in which case you get the volume discounts, or if you going through the aftermarket and service area.  So it could be as high as 40 percent, depending on your options.

But, again, when it gets down to the entire facility cost, it is still your fastest method to get the engine repaired and back up and in operation versus trying to build a whole new facility.

MR. GARNER:  Does this compressor run now, operate now?

MR. LAMOUREUX:  This is Dawn B, which went down in February with the engine failure.  The engine is back at the Dawn facility.  The plant is not yet available, although we expect it to be available by the end of this month.

MR. GARNER:  Sorry, with the engine rehabilitated and replaced back in?

MR. LAMOUREUX:  The engine had to go out for repair as a result of the failure back in February.  The failure wasn't directly related to the engine; it was the systems that actually support the engine.  So there was low oil flow to the engine and a programming issue did not shut the engine down like it should have.  So it came to a hard stop due to lack of oil flow.

MR. GARNER:  That's the lube oil skid failure that was written in there?  Thank you.  Because I was going to ask about that.

So do I understand it correctly, then, that the engine is going back into the plant and will be able to be operated?

MR. LAMOUREUX:  Yes.

MR. GARNER:  But notwithstanding those investments of $3 million over the past five years and it being put back now into service, you still -- your assessment is it should be replaced?

MR. LAMOUREUX:  Because of the vintage of the engine.  So if I go back to one of your earlier questions in terms of can't you just buy a new engine and put it in, this engine, they stopped producing back in the late 1970s.  The current version of the engine, which is going in our new plant, does not fit in the berth here.  So you can't just go out and buy a replacement engine and fit it in there.

Our recommendation absolutely is to replace this plant due to the fact that, primarily -- I mean, it is in the response to, I think, BOMA 9 through 11, basically, which deals with the fact that this is now essentially an obsolete engine, and spare parts, being the primary issue, are no longer available.

We responded that, in the recent rebuild, a number of the parts were not available at all, and there is really only three of these engines still operating in the world.

MR. GARNER:  I see.  When you say that -- and I just want to understand because, as you said, there is a difference between the engine and the control systems; right?  The engines have something in common with a number of engines like this, and the control systems are individual to the plant operation; is that correct?  Would that be a correct way of saying it?

MR. LAMOUREUX:  It would.  But, again, it is all an integrated system.  So part of the issue that we have had with this plant is adapting newer technology to the old vintage of the plant.

MR. GARNER:  And is it the control systems that really have the parts problem, or is it the actual engine that has the parts problem?

MR. LAMOUREUX:  The controls issue is driven by -- it's pretty much all customized now, because you are trying to adapt new technology to an old plant.  You get into programming issues that sometimes don't service through the commissioning.  There is a lot to that.

MR. GARNER:  Okay.  So now if I can turn back to you, Mr. Hockin, what would be the difference in the economics of any -- could you tell me, if plant B was not part of the project, would that -- do you know would that change the net present value of the project to a positive value or not?  Do you know that?  Have you done that analysis?

MR. HOCKIN:  The short answer is the analysis has not been done, but in the context of the project, you still have to recognize that there are three facilities required.  There is the Lobo and Bright facility, which provide the Dawn-to-Parkway transmission capacity.  And there is still -- if plant B was never a consideration, there would still be a need for some additional compression at Dawn.  So there is still a cost associated with that.

So it is not as simple as saying, ignore B, so to speak, for purposes of the combined total of the DCF.

MR. GARNER:  Okay.  So if I understand what you're saying, you're saying that you didn't do the analysis because the project is integral not simply for its replacement, but for incremental use?  So that is why it needs to be included in this analysis?

MR. HOCKIN:  The cost of Dawn compression needs to be included in order to move the gas through the Lobo and Bright facilities that are providing the additional capacity.

MR. GARNER:  And earlier you were talking to this issue, and I'm not sure I understood it, so maybe you can just help me about this.  The costs that are included in the analysis, in the DCF analysis, are they only those incremental costs of the plant, not the replacement?

Like, do you do an analysis as a replacement cost just to replace plant B in its current fashion, and then there's the incremental values that I need for this, as you say, project?  Did you do that?  How did you address that?

MR. HOCKIN:  The cost -- the Dawn site costs, if I can call it that, that are included in the DCF are the roughly 249-point-something million dollars, which is the cost of providing the compression.  It is also the cost of dismantling plant B in 2018 at roughly $5 million, exactly $5 million in the economics.

DR. HIGGIN:  Mr. -- can I just -- we asked you to -- it's Roger Higgin.  We asked you to separate those costs and to run the analysis that Mr. Garner just requested.  That is correct?  And it is in Energy Probe 14; correct?

MR. HOCKIN:  Correct.  The methodology that you proposed was to allocate the 249 -- the Dawn site costs on the basis of a ratio of the design-day capacity of plant B versus the design-day capacity of plant H.  So that was done as a response to Energy Probe 14.

DR. HIGGIN:  Thank you.

MR. HOCKIN:  Mr. Garner, can I come back to one of your other questions just for clarity on your question of stage 2?

MR. GARNER:  Sure, of course.

MR. HOCKIN:  Stage 2, there is two paragraphs in my response -- or, sorry, in my evidence under tab 9,  page 5 --


MR. GARNER:  Right.

MR. HOCKIN:  -- which really speaks to energy-cost savings in kind of two elements, if you will.  One is energy-cost savings using gas versus something else, and keep in mind that EBO 134 was created some 25-plus years ago.  So there are energy-cost savings that could be mathematically done for an application that would show what the energy-value savings to end-use consumers might be if they were using gas instead of electricity or propane or diesel and things of that nature.

Then the second piece is the energy-cost savings that might -- that would -- could accrue to using gas from this project versus gas potentially from some other project.

MR. GARNER:  Well, thank you.  And I can tell you part of my confusion was -- and you can help me with this -- is that I was -- perhaps I was reading into the response or into the evidence that you were indicating that there were no costs of the project being allocated to in-franchise customers, and that would be incorrect -- an incorrect read of that, wouldn't it?

MR. HOCKIN:  It is a two-step process.  The DCF is a cash flow analysis that looks at the matters that we spoke of and comes up with a net present value.  The outcome of that is a, you know, sort of PIs and MPV, some financial metrics.

Separate and distinct from that is the revenue requirement calculation that the rates group do and ultimately the rate calculation that comes from that through the cost-allocation study.  So there are two separate activities, both of them using the capital investment costs associated with it.

MS. MIKHAILA:  And those revenue requirements are all allocated to all -- sorry, those revenue requirement calculations that Dave was referring to are allocated to all rate classes based on their use of those assets.

MR. GARNER:  All right.  Thank you.

Now, I just wanted to ask also a little bit about something that was talked about this morning.  It is the upcoming open season.  Can you just give us an idea of when that will occur and when the results of that would be expected to be known, so for understanding of timing with this application?

MR. REDFORD:  So we would expect to go out, I will say, in November.  We are trying to coordinate our open season with TransCanada's.  It doesn't make a lot of sense for us to go out with an open season without downstream capacity being available too.  So we are going to try and coordinate those.

I expect that they would be back in December or January, and then, you know, similar to the 2017, it would probably take us maybe two months or so to come to commercial agreements, have executed PAs and FPAs and contracts.

So I think we would have an idea of what the results are sometime in -- early in the New Year, but the definitive results of it really wouldn't be known until probably for some time nearer the end of first quarter.

MR. GARNER:  Okay.  Thank you.

And I think my final question would be again related to the compressors.  I'm correct that all the compressors have been ordered for the project?  Is that true?

MR. REDFORD:  You are correct.  Much more than -- much deeper than that question, I would defer it to Ms. George on the next panel.

MR. GARNER:  Okay.  Maybe I will.  I mean, my questions really go to how much of the project is currently committed in the sense of dollars as of right now.

MR. REDFORD:  She is definitely the -- Ms. George is definitely the right person to ask.

MR. GARNER:  Okay.  Thank you.  And thank you, panel.  Those are all of my questions.

MR. MILLAR:  Thank you, Mr. Garner.

Mr. Viraney has a couple of questions.  We have some from Gaz Mét as well?  How long do you expect to be?  Okay.  Let's try and -- and, Mr. Rubenstein, how much do you have?

MR. RUBENSTEIN:  One question.

MR. MILLAR:  Okay.  Why don't we start with Gaz Mét?
Examination by Ms. Lemay:

MS. LEMAY:  Isabelle Lemay from Gaz Métro.

So we just wanted to maybe start by saying that, as we have previously stated in several proceedings, namely in front of the OEB, this project is in the spirit of the mainline settlement agreement and is part of the facilities that are required to allow Gaz Métro to move its gas supply plan from Empress to Dawn, as approved by Gaz Métro's regulator several years ago.

Now, our question is an extension of the questions we had in the IRs.  So it is Gaz Métro 1.  There was only one, and it is relating to questions (b), (c), (d), and (e).

So Union mentioned that the implementation of an equity allowance for funds used during construction may provide a way to balance risk between Union and shippers, in the event of a timing mismatch and in-service dates with TransCanada projects.

But Union has not determined when it would file such a proposal, and that's fine.

What Gaz Métro would like to know is, in Union's view, what would be the appropriate proceeding to propose an equity AFUDC?

MR. TETREAULT:  It is a good question.  I do not know that I have a good answer.  It is a -- as I understand it, this is a mechanism that doesn't exist in Ontario, so I don't know whether the Board could deal with this issue in a manner that is specific to Union or whether they would need to potentially consider something that is more generic.

MS. LEMAY:  Thank you.

MR. MILLAR:  That is all of your questions?  Thank you.  Mr. Rubenstein?
Examination by Mr. Rubenstein:

MR. RUBENSTEIN:  I just have one question with respect to SEC 9.  We had asked you in part (c) to explain why the change in the threshold costs for the term-up provision was appropriate, and you pointed us to Energy Probe 9(c), which actually points to SEC 9(b).  But it doesn't actually answer the question.  I am on to you.

MR. SMITH:  Almost impenetrable.

MR. REDFORD:  I would like to lay claim for that, but I think my Cs sometimes look like Es when they're written.  I think part(c) of SEC 9(c) really should be referred back to Energy Probe 9(e), as in elephant or egg.

MR. SMITH:  That's clear.  Two words.

MR. RUBENSTEIN:  I recognize what the cause was.  There was a discussion, and you had negotiations with customers.

But help me understand.  You filed originally on the basis that 20 million was an appropriate amount, and now it is more than -- it's more than doubled.  I'm trying to understand why that is appropriate, especially considering it now does not match the same true-up provisions that TransCanada has.

MR. REDFORD:  So I guess I would like at it this way.  First, I would say that the likelihood of us having an expansion of $20 million versus $50 million is probably the same on Union's system.

I think, as you see the expansions that we have had in the last three proceedings, they're well above $50 million.

So I think, to us, there wasn't a whole lot of difference between $20 and $50 million.  If you look at it this way, it kind of raises -- it raises the bar.  I am not sure $20 million on Union's system and $20 million on TransCanada's system is equivalent either.  So they have their own system.  It has its own characteristics.  I am not sure you could say that a $20 million spend on Union's system would be equivalent to a $20 million spend on TransCanada's system.  In absolute numbers, for sure.  But I am not sure it gets you the same capacity; it has the same impact.

So our view is that, whether TransCanada's number is 20 or whether our number is 50, materially they're going to be -- they are consistent.

MR. RUBENSTEIN:  Can you just elaborate on that last part?  Why would it be -- what is different about TransCanada's and Union's system that --


MR. REDFORD:  We have different pipeline systems.  So facilities on TransCanada's system that would be $20 million might be very different than what $20 million would do on Union's system.

Again, we're talking about capacity, capacity expansion that would meet loads from third parties.

So if we built $20 million worth of facilities on our system, dependent on where they are, where they're placed, you may get a very different result in terms of capacity created for -- on the TransCanada system.  Or said another way, we're going to need different facilities, whether it is pipeline or compression, on each of our systems.

You see that now; right?  In 2017, they're building a pipeline, and we're building compression.  In 2016, they're building a compressor; we're building a compressor and a pipeline.

So it is hard to equate -- I think it is very difficult to say that, you know, we have the same systems. $20 million or $50 million would do different things to each of our systems.

I think with respect to Union's system, again, I expect that expansions would be -- I think the likelihood of having an expansion of more than $20 million is very similar to more than $50 million.

MR. RUBENSTEIN:  If there is really practically going to be no difference, why would your customers who wanted the change from 20 to 50, why would it matter to them?

MR. REDFORD:  They may not share the same view.  They may be looking for more comfort through the term-up provision.

So our view was that, on balance, we were comfortable going.  We had a request and we -- and we had talked to other shippers, and our feeling was that $50 million was a better number, was more appropriate and more palatable to shippers.

MR. RUBENSTEIN:  And just the timing of how this happened, when you made the application with the proposal, had you not consulted at that point about the term-up provision?

MR. REDFORD:  Yes, we had.  I just think -- I think it took people time to think about it and formulate a position.  It wasn't the first time we presented it.  That's not good enough.  It needs to be something else.  I think it took time for them to process it and take it in.

MR. RUBENSTEIN:  Lastly, there was some discussion with Mr. Garner about, if -- you didn't have the problems with the current plant B, but you made the statement that you are still going to need some additional capacity at Dawn; you will need some additional compression.  Did I get that correct?

MR. HOCKIN:  Yes.  It is my understanding that we can't move the gas under Lobo and Bright without additional compression at Dawn.

MR. RUBENSTEIN:  What would that actually look like if that was the case?  Would it just be a smaller compressor that you would be seeking?

MR. HOCKIN:  You would need -- you can pose that question to the second panel.

MR. REDFORD:  Yes.  That is a good question for Mr. Wallace and Ms. George.

MR. RUBENSTEIN:  Thank you.  Those are my questions.

MR. MILLAR:  Ms. Alexander?
Examination by Ms. Alexander:

MS. ALEXANDER:  I also just have one question that I hope is more of you just clarifying everything for me.

I have really benefitted from all of your answers to IRs, so thank you for those, and also the answers that you have given to the other intervenors today.

So I think I have narrowed it down just to one question, which really I was hoping you could just walk me through what I think I've understood from your other responses and tell me whether or not I have got it right.

So my primary area of confusion right now is the surplus of -- I guess it is around 30,392 or 93 DGs, and that is as of November 1, 2017.  I believe is what is stated.

MR. REDFORD:  That's correct.

MS. ALEXANDER:  Thank you.  And I believe that you also stated in the evidence that that surplus has the potential at least to increase through the turnback.  Is that --


MR. REDFORD:  I don't know.  I don't remember stating that.  I might have to confer with Mr. Wallace on that.  The surplus will certainly change with turnback, or with lack of turnback.  So we've made some assumptions as we -- as we move forward.  That surplus can move up or down, I would expect, slightly.

MS. ALEXANDER:  So it is an approximation from what you understand now, I guess.

MR. REDFORD:  Yes.

MS. ALEXANDER:  And it has a value.  Is that right?  Like, technically, the surplus has a value of what it could be used for if it was contracted for?

MR. REDFORD:  Yes.  It would have a value if it was fully contracted with firm services.

MS. ALEXANDER:  When I was reviewing the IRs -- I think it is FRPO 17 P-2 -- it seems you sort of approximate that, if it was sold in the winter period, it would be for 1.4 million.

MR. REDFORD:  Yes.  I think we get -- yes, I think we got asked in two spots.  I will try very quickly to find it.

The FRPO question was really around winter usage.  ANE, it is either 17 or 18, and I am not sure which one.  Let me turn it up.  Eighteen asked for what that was worth on an annualized basis.  And over 365 days, it would be $1.34 million.

MS. ALEXANDER:  Okay.  So, I mean, I understand these are all approximations, and that's fine.  I'm just trying to understand what happens to that value then.  So, you know, if there is value that arises out of the surplus capacity, is that -- and you may have answered it in your question to Dr. Higgin and to Mr. Garner, but is that something that is dealt with through the revenue requirement?

MR. SMITH:  This was addressed by Dr. Higgin.  It becomes part of utility earnings, because it would be the sale of a utility service on a rate schedule, which would then go into Union's utility earnings, subject to sharing.

And if there is sharing of utility earnings under the earnings sharing mechanism, it would be -- that's where it would -- the rubber would hit the road.

MS. ALEXANDER:  Right.  And so there's -- is there, then, the potential for both in-franchise and ex-franchise customers to be affected by that or to sort of help subsidize that value?

MR. TETREAULT:  Well, I think the answer is yes in the sense to play off of Mr. Smith's statement.  If we are able to sell that surplus capacity, which will contribute to utility earnings, and if, as a result of the entire utility operations, in a year -- or in the same year we are sharing earnings with ratepayers, those earning sharing would accrue to both in-franchise and ex-franchise customers.

MS. ALEXANDER:  Okay.  Thank you.  That is excellent clarity for me.  Those are all my questions.

MR. MILLAR:  Thank you, Ms. Alexander.

Dr. Higgin.
Questions by Dr. Higgin::

DR. HIGGIN:  Thank you, Mr. Millar.  I just have one follow-up question, and it relates to the term-up provision.

Could we turn up, please, Exhibit A, tab 10, page 1, and the table that deals with the capital pass-through mechanism and look at the table that follows that.  There we are.  So I would just like to focus on the provision No. 2 in that table.

Just to clarify for me, has that changed -- will that be changed as a result of the increase in the term-up provision?  Does that threshold stay the same, or will it change?  That's the question for all projects, cost of supplies to all projects.

MR. TETREAULT:  No, there won't be a change, Dr. Higgin.  We are not proposing to change the qualifying criteria for the capital pass-through mechanism.

DR. HIGGIN:  Okay.  So, like the Sarnia project that you sent a copy of for me to look at, that would still not qualify as being one for pass-through at this point.  It would -- the costs would be deferred and then would be picked up at the next rebasing.

MR. TETREAULT:  That's correct.  The Sarnia project did not qualify for capital pass-through treatment.

DR. HIGGIN:  Okay.  Thank you very much.

MR. MILLAR:  Mr. Viraney.
Examination by Mr. Viraney:

MR. VIRANEY:  I just have two questions.  I understand that the PI of the project is less than one.  But you intend to proceed with the project because ex-franchise customers are interested in contracting for the capacity that will be created by the project, or are there any other reasons?

MR. SMITH:  Sorry, just to help perhaps orient, I think you have the evidence already, but it is certainly reflected in the application relating to the replacement of plant B, which is -- I think you have the evidence already.  That would be going ahead regardless and is sort of a separate consideration.  But I am not sure if that helps or...

MR. VIRANEY:  I guess, even if you exclude plant B and that you have done it for, I think -- you have allocated it between replacement and expansion, the PI is still, like, 0.54.

So the question is:  Are you proceeding with the project?  Like, what would be the reason to proceed even though the PI is less than one?

MR. HOCKIN:  As -- I was looking for the interrogatory, but there are some references in the interrogatories.  The PI is one metric that is considered.  The Board will need to take a look at the public interest, and we have quantified other public-interest factors, including the net present value of 126 -- or 123 million, as shown in tab 9 of the evidence.

MR. VIRANEY:  Okay.  Thanks.

If the Nexus by-plant does not go ahead and Enbridge transports the Nexus volumes through an alternate route but not through Dawn, would Union still require the capacity that it has requested in the application?

MR. REDFORD:  Yes, it would.  Enbridge is contracted for capacity from Dawn to Parkway.  We would expect that Enbridge's capacity would have some access to Dawn.  They hold a lot of storage.  They hold 112 BCF of storage at Dawn.  They use it similar to how Union does to balance their loads.

So I would expect that they would continue to utilize the space that they have asked for, the request, and have waived their -- or satisfied, waived their conditions precedent around upstream and downstream transportation under their contract.

So there are no conditions precedent outstanding from the shippers' perspective with respect to this transportation.  So I will say, yes, they would use their capacity.

MR. VIRANEY:  Thank you.

MR. MILLAR:  Does anyone else have questions for panel number 1?  Anyone on the phone?  Okay.  We will take our lunch break.  Is it okay if we come back at quarter to two, which is about 50, 55 minutes, instead of an hour?

MR. SMITH:  Yes.

MR. MILLAR:  Everybody happy with that?  Okay.  We will be back at quarter to two.  Thank you.
--- Luncheon recess taken at 12:53 p.m.

--- On resuming at 1:45 p.m.
UNION GAS LIMITED - PANEL 2


Michelle George


Dan Wallace


Dave Lamoureux


MR. MILLAR:  Everyone ready?  Okay.  Good afternoon, everyone.  We are back with the afternoon session of the technical conference.  We have panel 2 before us.  Mr. Smith, would you like to introduce them?

MR. SMITH:  Yes.  Closest to me is Dan Lamoureux, then Michelle George, and Dan Wallace.

MR. MILLAR:  Thank you.  Dr. Higgin, you have agreed to go first?

DR. HIGGIN:  I'm afraid so.  Volunteered, put it that way.
Examination by Dr. Higgin:

DR. HIGGIN: I would just like to start by looking at the alternative -- the evidence on alternatives.

If we could look at your main evidence and at table 8-3 -- or perhaps we will just start with Exhibit A, tab 8, pages 10 and 11, which is the discussion about the alternatives.

In this evidence, you list a number of facilities that were used in the capacity analysis.  So just to confirm, the basis on which you were doing this analysis, just confirm what it was.  Was it design day?  What was the analysis that you were trying to do here as alternatives?  What were the criteria that you set up in order to do this analysis?

MR. WALLACE:  Sure.  I'm just looking back in my evidence here, and maybe I could point you back to tab 8, page 2 of 12 as well.  That talks about the design of the Dawn-to-Parkway system and what our assumptions are in our design-day model, going on to page 3.

DR. HIGGIN:  Right.

MR. WALLACE:  That is the basis under which we tested these alternatives.

DR. HIGGIN:  Okay.  Now, just dealing with that, did you also look at alternatives that connect into, such as Niagara to Kirkwall, and those type of alternatives that provide capacity to at least the east end of the system?

MR. WALLACE:  So we were provided with the incremental demands by business development that are written here in evidence, and we proposed facility alternatives that would satisfy those demands.

DR. HIGGIN:  Okay.  I understand.  I just wanted to have that framework.

When we look at the summary in table 8-3, okay, this is the relative economics that are presented here, leaving aside methodology.  The thing that surprised me here is that these alternatives didn't meet the requirement of 456 or 452 gJs per day.  So why were they looked at if they didn't, or were there incremental things in these latter two options, for example, that you could have added another compressor or something else?

They didn't meet the requirement.  It seems a bit of an interesting analysis that doesn't meet the requirement.

MR. WALLACE:  So, granted, they do leave you with a shortfall; that would be unacceptable to manage.  So we could have added another facility to each of the second and third alternative to provide additional capacity --


DR. HIGGIN:  Okay.

MR. WALLACE:  -- which would have resulted in the same sort of ranking exercise that you see here in front of you that the alternative we're proposing is the best alternative.

DR. HIGGIN:  Okay.  Now, just coming back to the other element of this, that is LCU and specifically coming to the spare compressor requirement.  So did you analyze these alternatives including the approximately $12 million for the spare compressor or not?

MR. LAMOUREUX:  So the spare engine is a completely different discussion versus the LCU.

DR. HIGGIN:  Yes.

MR. LAMOUREUX:  LCU is intended to cover an immediate return to service when a plant goes down.

The spare engine is for return to service if your engine has suffered a critical failure, and we're forced to pull it out and then ship it back out.  The recovery time could be between one and two weeks.

DR. HIGGIN:  Right.  So that engine, how is that going to then be installed?  Is it on a skid?  Is it moved around?  How does it operate?

MR. LAMOUREUX:  So the engine would be in a cradle.  We would have to -- essentially it is packed up.

The units that it is going to be spare for, these are enclosed units.  So before you can actually pull the current engine out, you’ve got to remove the enclosure.  Michelle can comment from a design perspective, if she would like, but essentially you remove the enclosure.

We’ve got a crane system that's in the compressor plant.  The crane system pulls the energy out.  You load it on a returnable skid system.  That gets shipped out to the repair service, which currently is out in Calgary that we're currently using.  They would do the tear-down, the analysis, and in between all of that, you are now reloading your spare engine in, so your return to service is two weeks versus typically what turns out to be 90 days, if it is a simple repair to the engine.

DR. HIGGIN:  Right.  But you do have -- depending on the time of year, you have LCU protection at all of the main plants on the system, including Dawn, Lobo, et cetera, and Bright and so on.  You have LCU protection anyway there; right?

MR. LAMOUREUX:  That is correct.

DR. HIGGIN:  So this contingency would only happen if it was really in winter, and it was your peak period.  Would you actually do that, or would you not preferentially run your LCUs as being the main number one standby?  I mean, that is why we got educated all about LCUs over many years.

MR. LAMOUREUX:  So, again, if we go back to they serve a different purpose, you are correct that, if one plant fails, your LCU unit would come into play, and there would be no disruption in service.  If two plants fail, then there would be interruption in service.

So you are taking the risk based on the time of year.  So if your failure occurs in May, it is not as big an issue as if that failure occurs in January.

DR. HIGGIN:  Right.

MR. LAMOUREUX:  One of the big driving factors behind the spare is the fact that, with the expansion projects, our fleet will increase in terms of number of units that we have of this version of the – it's the RB 211-24 GTDLE engine.

DR. HIGGIN:  Mm-hmm.

MR. LAMOUREUX:  By the time we have completed the expansion projects through 2015, 2016 and 2017, we will now have 10 of these engines in our fleet.

So if you look at things from a critical spare-parts analysis, based on the number of units that we have and the potential for one of these units or more than one of these units being out of service, it makes prudent sense to have a spare in this case.

DR. HIGGIN:  Okay.  I think we're still having some difficulty understanding why we need that extra unit with LCU, when, particularly, the failure could occur at any one of the four main plants.

MR. LAMOUREUX:  Correct.

DR. HIGGIN:  So we’re still having some difficulty.  Can you help us with understanding why you need to have a spare engine rolling around on a large truck waiting to go somewhere?

MR. LAMOUREUX:  So, if the unit -- so, again, if we go back to, if the unit goes out of service, then you would be out for potentially three months or longer.  And so, if that occurs in January, that is a considerable period of time to rely on your LCU.  LCU is intended to cover off a short-term interruption in service.  It is not intended to cover off long outages.

I think the other thing that you have to look at is the -- one of the reasons we have it as part of this application is there is an opportunity for a considerable price reduction on that spare engine by buying it as part of the overall package.

DR. HIGGIN:  Oh, okay.  So it is like buying a vintage car.  You get a spare engine with it, just in case it breaks; right?

MR. LAMOUREUX:  Only you're buying a brand-new car instead of the vintage engine.

DR. HIGGIN:  Okay.  The question I think we're still struggling with -- and I guess we will have to struggle with this -- is the question of where and how the costs of that engine -- that 12 million, approximately -- my number, because I know you haven't given us the number, my number -- where those costs are going to be allocated and how they're going to be allocated.  That's a separate question, the cost consequences and where to allocate the costs.

MR. SMITH:  Sorry.  Just so that the record is perfectly clear, Dr. Higgin, the actual number for the spare engine is actually available but filed confidentially.  So if you wanted to see it, you would just have to --


DR. HIGGIN:  Well, let's just say I don't need to --


MR. SMITH:  -- execute the undertaking.  But I can tell you not confidentially that it is not 12 million.

DR. HIGGIN:  Can you tell me not confidentially, is it more or less?

MR. SMITH:  No.  I won't tell you anything beyond what I have told you, but there is an actual number so that people understand that.

DR. HIGGIN:  Anyway, leaving aside the number, it has a revenue requirement attached to it.  Basically, we would like to understand how those costs of that revenue requirement are going to be allocated and particularly between, for example, Dawn, which is one location it could go to, and between Dawn-Parkway and also from Kirkwall to Parkway, you know, the different elements of the -- how will those costs be allocated?

MR. LAMOUREUX:  So I can't respond to your question in terms of cost allocation.  The one point I do want to make on the spare engine in terms of usage before we leave this discussion is that the spare engine can also be utilized to optimize the overhaul on our engines.  Typically an engine goes out for an overhaul at 25,000 hours.  We will make an assessment partway through the year, and we'll forecast the number of hours.

Today we have a very small window to do these overhauls.  We will typically pull them out in the springtime period.

By having the spare engine we also have the opportunity that, in the slow season demands, we can put the spare engine in and guarantee we'll return to service when we need it.

So there is more application to the spare engine than just the repair situation where we've got a critical failure.

DR. HIGGIN: Okay.  Thank you.

So, Mr. Smith, maybe it is my mistake, but I would certainly like to understand -- maybe Mr. Tetreault can help me -- with respect to how the costs of that spare engine are going to be allocated, given its potential services, which would include both -- all of the stations here.

So could you assist us with how that is going to be allocated, whether it is 12 million or 25 million or whatever number, how will the costs be allocated, at least in a conceptual way?

MR. SMITH:  Yes.

DR. HIGGIN:  Thank you.  An undertaking.

MR. MILLAR:  Yes, so I think JT1.10.
UNDERTAKING NO. JT1.10:  TO IDENTIFY HOW THE COSTS OF THE SPARE ENGINE WILL BE ALLOCATED TO THE VARIOUS ELEMENTS OF THE DAWN-TO-PARKWAY SYSTEM

DR. HIGGIN:  That is just to identify to us how the costs of the spare engine will be allocated to the various elements of the Dawn-to-Parkway system.

I had one other question, and that was --


MR. SMITH:  Sorry, maybe we should just keep the undertaking so the record is clear, just how Union proposes to allocate the costs of the spare engine, period.

DR. HIGGIN:  Well, if it says to me we're going to allocate it based on easterly demands, I don't want that answer, sorry, because it is not only used for the easterly demands.  It may be used for other purposes.

So that is, perhaps, Mr. Smith, why I would like a better answer than perhaps just simple; right?

MR. SMITH:  No, no, I wasn't proposing to restrict it.  I thought your wording was more restrictive than mine, but I understand what you are asking.

DR. HIGGIN:  Okay.  Thank you.

So one other question on facilities.  The site for Dawn H, does Union own that land 100 percent?  Is it freehold?  Or does it have to -- is it leasing that land, the piece of land that you need to install Dawn H?

MR. LAMOUREUX:  Yes, we own it.

DR. HIGGIN:  You actually already own the facility?

MR. LAMOUREUX:  Yes.

DR. HIGGIN:  Thank you.  Those are my questions.  Thank you, Mr. Millar.

MR. MILLAR:  Thank you, Dr. Higgin.

Any volunteers?  First let me just check.  Mr. Wolnik, are you still on the phone?  Or he had to leave, I believe.

Okay.  Mr. Quinn, are you ready to go?

MR. QUINN:  I am still pulling together my rewrite.

MR. MILLAR:  How about Mr. Viraney?
Examination by Mr. Viraney:


MR. VIRANEY:  I just have one question.

It is the replacement of plant B, and I believe that plant B used to provide 26,700 horsepower.  Is that correct?  That is Exhibit A, tab 7, page 2.

MR. LAMOUREUX:  Yes, that's correct.

MR. VIRANEY:  And you are replacing that with the Dawn H compressor that has a rating of 44,500 horsepower?

MR. LAMOUREUX:  Correct.

MR. VIRANEY:  Are you replacing plant B with a higher horsepower rating compressor?  Is that because that is what is commonly available from the manufacturer these days, or you wish to further increase capacity?

MS. GEORGE:  That is our standard compressor design and the new RB 211 package has that horsepower.  That is the horsepower of the new RB 211 package that we're replacing plant B with.

MR. VIRANEY:  So you wouldn't get a lower horsepower reading compressor, or this is the newer standard just like, you know, the new computers that are just -- have higher memory and RAM?

MS. GEORGE:  This is the new standard for the RB 211.

MR. VIRANEY:  Thank you.

MR. MILLAR:  Thank you, Mr. Viraney.

Yes, Ms. Alexander.
Examination by Ms. Alexander:

MS. ALEXANDER:  Perhaps I can just go ahead to follow up on questions in regards to the spare engine.  Just a couple things that you said triggered questions for me.

Do you have a spare engine now?

MR. LAMOUREUX:  Not for the RB 211.  We have a spare Avon engine, which is for our facility at Lobo and Parkway.  So currently we do not have a spare for this -- the RB 211 platform.

MS. ALEXANDER:  And you have never had a spare --


MR. LAMOUREUX:  No.

MS. ALEXANDER:  -- for that platform?  Okay.  And so you are continuing to function as things are now without a spare?

MR. LAMOUREUX:  We are, but the number of facilities is considerably increased that are on the same engine.  So all of the new plants that are coming into service -- there's six of them in total -- across the various applications have the RB 211, 24 GT daily.

MS. ALEXANDER:  Okay.  I'm trying to understand.  Also when you sort of indicated that the spare engine came as part of the package or, like, when -- if you get the spare now, then you get the great deal.

So I am trying to understand.  Did you anticipate that you needed a spare engine because of your forecast and then you said, "Can we get a deal?"  Or were you upsold, in the sense of, you know, "Hey, buy this, and we will give you this."  And I mean that in the most respectful manner, but...

MR. LAMOUREUX:  Yeah, but that's fair.  The discussions about the spare engine were underway before the negotiations in terms of the new packages.

MS. ALEXANDER:  So then the new package was brought forward as an incentive, or...

MS. GEORGE:  So the requirement for a spare engine is an operating requirement.  Dave and his team have, as he said -- were looking at the need for a spare engine based on the number of RB 211s we have in our fleet.

And then we, as part of the conversations with Siemens as part of our purchases over the last three years with the applications for 2015 Dawn-Parkway expansion, 2016 Dawn-Parkway expansion, and this one, we have purchased a number, and so the volume discount that we're getting is related to the purchases that we have made.  We weren't upsold.  We got a deal.

MS. ALEXANDER:  Okay.  Those are my questions.

MR. MILLAR:  Thank you, Ms. Alexander.
Examination by Mr. Garner:

MR. GARNER:  I have very few, and given they always seem to be on the same thing, the fascination with this compressor.

Is there someplace in the evidence where we would see -- I think you said there were 10 stations that would use the same engine.  Is that correct?

MR. LAMOUREUX:  Yes.  That is correct.  It is Board Staff 6.

MR. GARNER:  Does it give the vintage, just since you know -- I just can't recall.  Does it also give the vintage of each engine at that -- at the...

MR. LAMOUREUX:  In terms of the year?

MR. GARNER:  In terms of the year of the engine, et cetera.  What I am just trying to understand is there is 10 units that it could possibly replace.  How old are those 10 units in -- like, not -- individually, how old are they?

MR. LAMOUREUX:  Yes.  So the plants that are listed for which the engine would be a drop-in for the spare are also listed in Exhibit A, tab 4, Schedule 3 of the application.

MR. GARNER:  And would that give the vintage of --


MR. LAMOUREUX:  That gives the year, yes.

MR. GARNER:  That gives -- thank you.

MS. GEORGE:  If you turn to Board Staff 6(b), it also indicates the gas generators --


MR. GARNER:  Yes, I see that.

MS. GEORGE:  -- range in age from 2007 to the new ones.

MR. GARNER:  Right.  Thank you.  And when you say there was a discount for the engine and -- because I have not looked at the confidential information that has been filed, and nor do I want to cross into that path, but when you look at that -- when you say a discount, are we talking 10 percent?  20 percent?  80 percent of a discount on the engines?  What kind of magnitude of discount would one say?

MS. GEORGE:  I'm going to start by saying I think there is a lot of discussion about how much this engine is that we are not able to talk about due to confidentiality.  But I will say it is less than half of the cost of a compressor package.  So there's -- the engine is a piece of the compressor package.  It is less than half of that.

MR. GARNER:  Right.

MS. GEORGE:  In terms of the discount, I feel that I should not be speaking about the discount.

MR. SMITH:  It is a redacted –- that question was asked, Mr. Garner, and it was redacted.

MR. GARNER:  Thank you, Mr. Smith.  That is helpful.  That's fine.

Again, I know many people in the room, excluding me have, talked about LCUs ad nauseum, I take it.  I don't want to.  I want to really understand the answer to this question.

What is it that precludes LCU from operating on the long-term -- longer term period that you were talking about, which is, I heard, up to three months?

MR. LAMOUREUX:  So it is not that you can't.  So it is not that the system isn't set up.  But you are at risk of not being able to fulfil the needs, because at the point where a second unit goes down -- to put it in perspective, in a particular year, we will have on average between 9 and 12 failures of compressor plants.

MR. GARNER:  Right.

MR. LAMOUREUX:  And so, depending on which plant goes down, which yard you are in and the time of clear, it elevates your risk level in terms of being able to not supply.

MR. GARNER:  Okay.  Just one last question on this compressor:  If one were to order one today, so to speak, how long does it take to get one?  What is the alternative to purchase when something goes like this -- what kind of time frame would the utility have to wait in order to get a new unit brought on to site?  Do you have any idea?  Like, would it be months?  Days?  Weeks?

MS. GEORGE:  So we have been ordering new units, and the material delivery is between 12 and 18 months.

MR. GARNER:  For just the engine, to get the engine?

MS. GEORGE:  For the compressor package; it would be similar for an engine.

MR. GARNER:  But right now, we're just talking about the -- just so I have it clear, the 12 million, we're not talking about -- that is just an engine, is it not?  It is not the package of -- is it?  Which is it?

MS. GEORGE:  Sorry, the spare engine is not a full package.  That's correct.

MR. GARNER:  That's all we're talking about right now, I thought.

So just for an engine to go -- you know, when you go down to Wal-Mart and pick one up, how long does it take to get it delivered?  I am just trying to understand --


MR. LAMOUREUX:  If you were ordering one, so if you just want to order an engine, it depends on what is currently in the chain, in terms of the builds for Siemens, but it would easily be over a year.

MR. GARNER:  So it is not even close to being the time frame; that is all I am trying to understand.  Thanks.  That's good enough.

Finally, this was punted from the last panel.  I was wondering could you help me understand the commitments to date for this project?  You have given, in the evidence -- let's stick with the evidence format that you have given.  How much of the project costs are now committed in the sense of having ordered the material and would cause you to have, you know, incur penalties or other --


MS. GEORGE:  If you turn to VECC 7, part C, the question was how much have we spent, and that was as of August 31.  I can provide an update to September 30.

As of September 30, we have spent $21 million, and to answer your question, that represents about $50 million in cancellation costs.

MR. GARNER:  I do appreciate the response, but it was what you were saying about spent and committed to.  I mean, you seem -- is there a distinction between what you are committed to and what you have actually spent on the project?  Like, you have signed things, for instance, but haven't spent the money.  I am trying to understand where the utility is at the stage of commitment to overall costs.

MS. GEORGE:  The commitment is the $50 million.

MR. GARNER:  Thank you.  Okay.  I think those are my questions.  Thank you, panel.

MR. MILLAR:  Thank you, Mr. Garner.  Anyone other than Mr. Quinn?  Mr. Rubenstein?
Examination by Mr. Rubenstein:

MR. RUBENSTEIN:  Just a couple of questions:  The first is following up on the first question that got punted to you, to panel 2.  This was a follow-up from a conversation had by panel 1 with Mr. Garner.

As I understood the discussion, even if there were no issues with plant B and it did not need to be replaced, you still -- my understanding of the application is you still need added compression at Dawn.  Am I correct?

MS. GEORGE:  That's correct.

MR. RUBENSTEIN:  One of the questions -- and it may have actually been addressed a little bit with your conversations a few minutes ago, was -- so how would you -- what would be the most cost-effective way to get that added compression?  Would it be using a smaller -- purchasing a smaller compressor?

MS. GEORGE:  That's correct.  So I am going to answer that by turning you to evidence on tab 11, page 2 of 16.  So tab 11 explains -- describes the facilities as they're designed and as they are being built.

The first page talks about the compressor plant, which is consistent for Dawn H, Lobo D, and Bright C.  And that -- the size of that compressor plant would be different if we were not replacing plant B.  So that is to answer your question.

But Dawn H -- on page 2, we describe the other requirements for Dawn H that are required.  So the pipeline header expansion as well as the Dawn-to-Parkway system measurement, because of the increased transmission loads to be measured -- to go into the Dawn-to-Parkway system.

So both of those are still required.  So those two aspects would still be required, and we would require a smaller compressor plant.

We did look at, at a high level, what that cost would be, and that would be approximately $205 million to have a smaller compressor plant as well as the other facilities required for growth.

MR. RUBENSTEIN:  Sorry, I don't have it in front of me.  The total proposed for --


MS. GEORGE:  For Dawn H would be $205 million versus the $249.9 million that is included in the application.

MR. RUBENSTEIN:  All right.  Thank you very much.

My other question --


MS. GEORGE:  I also want to clarify.

MR. RUBENSTEIN:  Please.

MS. GEORGE:  Then we would have to build another plant to replace plant B.  So that plant would have to be built, and it would be a cost of about $135 million.  So, overall, the cost would be approximately $90 million than building them together to serve the purpose for both.

MR. RUBENSTEIN:  Sorry, why would you need to build another plant?

MS. GEORGE:  Because we need to replace plant B.

MR. RUBENSTEIN:  Sure.  But that is at a period in the future?  Maybe I misunderstood.  I want just the assumption there was no problem with the current plant B.  It was working.

MR. SMITH:  Sorry.  I think you are talking about different -- plant B isn't being replaced, Mr. Rubenstein, because it is not working.  As the witness said before, it is being replaced because there is only three of them in the world, and there are no spare parts.

MR. RUBENSTEIN:  Fair enough.  Let me rephrase.

Assuming that wasn't the case and there was no issue with the current plant B and there was no issue about replacement parts, and the only issue you needed to deal with was the added compression, I am trying to understand what that costs.  Would that be the $205 million you were talking about a minute ago?

MS. GEORGE:  Yes.

MR. RUBENSTEIN:  Okay.  Thank you.  The other question I had – and you don't need to turn it up, but it is SEC 4.   We asked you at what amounts of incremental capacity is each of the new compressors needed, and your response is essentially, well, we have the contracts, so for the entirety of the incremental capacity that we're talking about, so you need all of them.  I recognize that.

I just want to understand what are the step progressions that are needed.  You know, what is the order of operations if you had a smaller amount of incremental capacity?  What would be the first compressor you would need to bring -- a new compressor you would need to bring online and at what stage of incremental capacity?

MR. WALLACE:  I guess I can tell you that -- that is kind of a hypothetical question, I guess, is maybe why I struggle with it, because we do have signed contracts for this incremental demand, and it requires all three facilities.  So I am not sure how to break that down any further.

MR. RUBENSTEIN:  Well, assume you didn't, or assume --


MR. SMITH:  But we do.

MR. RUBENSTEIN:  Fair.  Assume there is some reason that you don't -- that, putting aside the signed contracts, you didn't need the incremental --


MR. SMITH:  Mr. Rubenstein --


MR. RUBENSTEIN:  I just want to understand just how it operates, how the planning works that you would -- when you need the first one; then you need the second one.  How does that work?

MR. SMITH:  But, Mr. Rubenstein, there is no basis for your counterfactual.  We have signed contracts for 453 TJs of demand.  There isn't a situation in evidence where that isn't the case.

MR. RUBENSTEIN:  Well, I'm just trying to -- just hypothetically --


MR. SMITH:  But why are we answering hypothetical questions?

MR. RUBENSTEIN:  I think it also helps parties understand how the planning went into determining which of the plants you needed and at what levels of capacity that they were required.

MR. SMITH:  I don't know what to say beyond there are actually contracted demands for the actual amount.  They didn't plan for a different number.  That's the problem.

MR. RUBENSTEIN:  Well, I'm not sure what the problem is, having the witnesses answer the question.  You...

[Witness panel confers]


MR. SMITH:  It may be of assistance -- I don't know -- to the witnesses and you, Mr. Rubenstein, to look at BOMA 8, which does talk about the capacities that come from the facilities that are being built.

MR. WALLACE:  So, again, trying to be helpful here, we had the firm demand.  So we looked at the set of facilities we required to meet those demands, and BOMA 8 -- again, the response to BOMA 8(a) does provide the individual capacities of those facilities.

MR. RUBENSTEIN:  Can you help me understand what would be -- how would you do the order?  I assume if you had 118,000, so this is the Lobo D, but that was the incremental capacity.  It wouldn't be, well, we're building Lobo, or would it be that you're simply building Lobo D?  Obviously there would be an order.  Help me understand from a planning process how this works.

MR. WALLACE:  Sure.  Maybe I can help a little bit with that.  And I will flip back to evidence here.  Give me a second to find it.

I will explain, I guess, the planning process, and Mr. Rubenstein might help us a little bit here.  On page -- tab 8, page 10, starting at line 9, we basically list the facilities that we evaluate as physical alternatives to meet the demand.

What we essentially do is model each of them to determine which facility would give us the least cost per capacity and then go ahead and put that facility in place, and then if that meets the demand, great.  If it doesn't meet the demand, then we would continue adding the next least cost per capacity facility until the demand is satisfied.

MR. RUBENSTEIN:  Thank you very much.  Those are my questions.

MR. MILLAR:  Thank you, Mr. Rubenstein.

Mr. Quinn?

MR. QUINN:  If you leave that up, Mr. Gagner -- if you leave that up, because I was trying to catch the reference.  Thank you.
Examination by Mr. Quinn:

MR. QUINN:  I was going to try to reformat this a bit, and I have, and hopefully we will get through this in a reasonable time.

But starting on that page, because I had questions that were similar, you used, Mr. Wallace, the expression, "the cost per capacity for each of those 1 to 8 alternatives."  That would be part of your capacity analysis?

MR. WALLACE:  Yes.  That is the analysis we do to rank the facilities.

MR. QUINN:  And we did ask for this in a previous proceeding, so essentially you have already done the analysis.  Could you undertake to provide the cost per capacity for each of those alternatives and include, above those, presuming, of course, they planned above them, the Lobo D and Bright C parts so that we have all 10 of the alternatives in front of us to just -- to understand how you came to the conclusion that Lobo D and Bright C were the --


MR. WALLACE:  So, sorry, I struggle with this a little bit.  So these eight facilities are facilities that make up the alternatives that would serve the demand.  So I don't necessarily have a cost per unit capacity for each of them.  I would have to assemble various permutations of facilities and come up with a cost -- that would meet the demand and come up with a cost per unit capacity for that.

MR. QUINN:  Okay.  Well, let's make -- let's --


MR. SMITH:  That was on table 8-3, isn't it?

MR. WALLACE:  Yes.  Table 8-3 has three of the alternatives there.

MR. QUINN:  Okay.  And I recall seeing this.  Maybe best ask, because some of that is done, then, Mr. Wallace, in terms of recombining the alternatives.

I notice that on none of those -- said better -- plant H isn't represented in that table.

MR. WALLACE:  Plant H is in every alternative on that table --


MR. QUINN:  Sorry, sorry, it is not differentiated.

Did you look at a plant -- a smaller-sized plant B-type compressor -- I want to stay on this slide, because I have some questions to do with what Ms. George referred to as this plant B and plant B replacement.

Call it horsepower to deliver what was required out of Dawn that is a smaller compressor than Dawn H.  Did you look at those alternatives in conjunction with the different alternatives, not only here represented, but the eight above?  Six of the eight above?

MR. WALLACE:  The requirement we have at Dawn is to replace plant B and provide incremental transmission horsepower, which leads us to plant H being considered in every alternative.

MR. QUINN:  Okay.  I think maybe because I tried to stick on this one I am not helping you understand what I am looking for, and we may be able to get there better by me going with my original line of questioning.  I will just put a footnote down for A, tab 8, page 11.  We might come back to it.

Starting where I was going to, if we can turn up BOMA 8 at the outset, and I want to understand from a facilities point of view.  We have got Mr. Tetreault's view from a cost-allocation point of view.

We have -- you have the capacity of 1.8 PJs that you replace with Dawn B for a plant H, which is 2.8 PJs.  At a high level, that is the replacement; correct?

MR. WALLACE:  Yes, that's correct.

MR. QUINN:  Okay.  But as we discussed this morning, that incremental 1 PJ of capacity, we discussed 452 -- I got the right units here -- TJs per day is what would be required in terms of compression from that compressor.  Is that correct?

MR. WALLACE:  You know, I don't have the exact number.  I will say it is greater than that.  There is some Parkway delivery obligation reduction that now means that we will have to service some additional demand from Dawn.

But I don't have exactly that, but it is about half of that 1 PJ.  It would be utilized or consumed in the first year by these incremental demands.

MR. QUINN:  Okay.  Trying to include that and so we don't get stuck in detail when I know you don't have all the numbers, Mr. Wallace, let's just use the 500 TJs or half a PJ as a reference point.

But then further this morning, Mr. Tetreault talked about Kirkwall -- deliveries that are going from Kirkwall to Parkway don't use Dawn compression.  My understanding is, out of the 452 that was referenced, 85 was part of that.  But I am also now understanding that you are not using Dawn compression for that.

So is the real number of compression that you need that 0.5 or whatever the number is, minus the 0.085, which represents the Kirkwall-to-Parkway contracts?

MR. WALLACE:  Sorry, I want to make sure I answer your question clearly.  Could you just repeat it for me again?

MR. QUINN:  Starting at Dawn, you have somewhere around 0.5 PJs of excess capacity.  And that was developed by the complete 400 and -- that developed from the 456 TJs of contracted capacity.  Of that 456, we understood that 85 goes from only Kirkwall to Parkway and, as Mr. Tetreault said this morning, and you don't use Dawn compression to facilitate that.

So I am trying to work backwards to what is the incremental capacity you need at Dawn as a result of the fact that, as I understand it, you don't need Dawn compression to do the Kirkwall-to-Parkway deliveries?

MR. WALLACE:  So the 452 TJs is the incremental demands of 85 -- yes, 85-ish of which are flowing Kirkwall to Parkway.  The 456-57 TJs is our capacity provided by the builds.

I think there might be an undertaking we took this morning already to look at what the incremental transmission capacity at Dawn, or Dawn's send-out capacity is in over a couple of years.  I believe we took one this morning, which might help you a little more.

MR. QUINN:  I am going to try to understand your answer first, and then we will make sure hopefully we have the undertaking that is necessary for the record.

The 452, does it include or not include the 85 of Kirkwall-to-Parkway deliveries?

MR. WALLACE:  It does include.  It is the gross total of the contracted demands.

MR. QUINN:  The amount that compression has to push out at Dawn is 452 minus 85?

MR. WALLACE:  Again, there is some other changes at play here.

MR. QUINN:  Other changes aside from a contracting point of view, that is --


MR. WALLACE:  The rest of it would come from Dawn.

MR. QUINN:  So we are not talking about the need for 456 -- of the one PJ, and it is somewhere around a half, you said, almost another 0.1 does not need compression out Dawn.  So you are only going to use -- you are using less than half of the excess capacity that the Dawn H project is going to create, in round numbers.

MR. WALLACE:  So, again, I don't have the exact number with me.  But there is a calculation that can be done to determine what we need incrementally from Dawn, and that's somewhere around that half a PJ -- which I realize you're having trouble reconciling that with the 452.

MR. QUINN:  Maybe you could do it by way of undertaking is to reconcile that, because what we have is a total Dawn-to-Parkway capacity in the order of, in round numbers, 450, of which 85 comes from Kirkwall -- is Kirkwall-to-Parkway deliveries.  How do you get up to half a PJ at Dawn?

If you can take an undertaking to do that, I would appreciate it.  If it doesn't get subsumed under the earlier undertaking of earlier today and it is part of the forecast, we would be happy with that, too.  But we just want that specificity.

MR. SMITH:  I think it is part of JT1.8.  But if it is not, we will make it part of it.

MR. QUINN:  Okay.  Thank you, Mr. Smith.  I wanted to start at that level, and then we can talk about if --whatever the number is, that incremental number, we will call it X deliveries out of --


MR. SMITH:  Why don't we call it half, because that is what the witness has said?

MR. QUINN:  Okay.  Well, my math isn't reconciling, but I let X equal a half.  So at half of a PJ, my understanding of what Ms. George said, is if plant H were not built, a smaller compressor could be put in place to deliver that incremental amount, but that would cost approximately $205 million.  Is that correct, Ms. George?

MS. GEORGE:  That was in response to the scenario -- a scenario which is not the scenario we're bringing forward.

In the scenario we're bringing forward, there are two needs for this project, particularly at Dawn.  The two needs are to meet the growth demands and to meet the transmission capacity requirements from replacing plant B at Dawn.

MR. QUINN:  Okay.  Well, then let me say -- let's just try to create a simpler scenario, then.

At this time, you say -- and I'm going to address that later.  But let's say plant B must be replaced.  So you have to replace the capability of plant B, and you have growth in the order of 0.5 PJs.  Do you have -- have you estimated what the cost of providing those services would be from Dawn?

MS. GEORGE:  In order to build a compressor that meets the capacity requirements for this project -- so to meet both of those, as you identified, I don't have a specific number.  But I can say the costs are essentially the same.

So a compressor that is a little bit smaller than a RB 211 is -- the costs are essentially the same.  We have looked at them in the past, and I believe Dave earlier today talked about our standard compressor design, and there are a lot of benefits of having a standard compressor design, both from a project perspective on design and construction efficiencies, and also from an operating perspective when it comes to spare parts, training and operating procedures, maintenance, maintenance planning.  So the costs are essentially the same of a plant that would meet the scenario you requested.

MR. QUINN:  Okay.  Said differently, could you put a compressor, not a standard -- for all of the good reasons you buy standard, and I understand that -- could you put a smaller compressor into the plant B plant that would accommodate the amount of incremental capacity you need, in effect, then replacing the plant B compressor unit and meeting the growth capacity requirements?

MS. GEORGE:  No.

MR. QUINN:  How many sizes of compressor does Rolls Royce make, like, that are in the order of what you want to put in versus what is needed?

MS. GEORGE:  Siemens is not the only manufacturer of compressors.  I don't know how many exactly they make.  We cannot put a plant in the plant -- we cannot put in one compressor to serve both of those -- your question was could we put one in plant B.  The answer is, no, we can't.

MR. QUINN:  Tell me --


MS. GEORGE:  But if we were to build a plant that met the demands and only met the demands, then the costs would essentially be the same.

MR. QUINN:  I'm going to break that down.  Why can't they serve both?

MS. GEORGE:  Okay.  I am going to turn to the drawing of Dawn.  I think that is probably a good way to explain this.

MR. QUINN:  Are you talking about BOMA 9, or do you have a different reference?

MS. GEORGE:  The aerial photograph.

MR. SMITH:  BOMA 9?

MS. GEORGE:  No, the aerial photograph of Dawn which is in evidence.  section 7, I think it is a schedule in section 7.

MR. WALLACE:  Schedule 1.

MS. GEORGE:  Schedule 1, tab 7.  So we cannot put a compressor in where the existing plant, the Dawn B plant, is.  We need to move it to the area where we are building Dawn H.

We cannot serve the incremental demands with the existing header system, and we cannot serve the incremental demands with the existing measurement.  So that is why we are building the project the way we are building it.

MR. QUINN:  But I thought I heard you say earlier that, if you built a plant that served only incremental demands, in that scenario, there would be a $205 million plant, but then you would still have to rebuild plant B or replace plant B.  That's the part I don't understand.  Why would you have to -- if you built a plant sized for only the incremental demands, why would you have to rebuild plant B?

MR. LAMOUREUX:  So the plant B issue is -- we will go back to the discussion in terms of the vintage of the engine and when the facility was built.  The biggest issue is from a maintainability perspective and spare parts.

So that was in one of the responses to the BOMA -- and I will point you to BOMA 11 and, in particular, a letter from Siemens.

MR. QUINN:  I'm familiar with the letter, sir.  Thank you.  So you're saying you have to replace plant B.  I will camp on that for a moment and then get back to why again, why you would have to rebuild it again if you have the incremental.

You're saying that Siemens says -- I don't want to summarize.  I don't want to put words in your mouth.  But Mr. Smith earlier said there is no spare parts.  Is that correct?  There is no spare parts?

MR. LAMOUREUX:  Well, they will not guarantee the availability of spare parts.  It is on a best efforts basis.

In the recent failure, 5 of the 15 critical parts were not available, and we had to go back to Siemens to get an engineering deviation to reuse those parts.  So we already know that some of the parts are not available.

The letter from Siemens outlines the number of parts that are unique to the vintage 22 version.

MR. QUINN:  I don't want to ask that the Board spend time in analyzing the question and, you folks, too.  I have no concerns about that.  I have respect for what you are doing.  I am trying to understand the no spare parts versus the risk of they're not being parts.

What did I misunderstand before, Ms. George, when you were talking about, if you built a plant sized for incremental demands that was 205 million, and you said that there was an additional -- you would still have to build another plant to replace plant B at $130 million.  What was that for?

MS. GEORGE:  So I was presenting a scenario which would be two separate plants instead of building one plant.

MR. QUINN:  What does the second separate plant -- not the incremental band plant, what does the $130 million plant do --


MS. GEORGE:  It would replace plant B.

MR. QUINN:  What is the function of plant B that you are replacing that is not delivered by a compressor that is providing capacity?

MS. GEORGE:  So if we were to build a compressor for only the incremental demands, it would be in the range of -- 0.5 PJs is the number we're using.  If we're going to build a compressor to replace plant B, we require 1.8 PJs a day.  So we are building a compressor that provides 2.8 PJs a day.  If we were to build a compressor that provides only 1.8 plus 0.5, so 2.3 PJs a day, it would be essentially the same cost as the compressor that we're building.

MR. QUINN:  That's the part -- you just created clarity in terms of saying it is 2.3.  So, at 2.3, you're saying there isn't a smaller compressor that would be available to serve 2.3?

MS. GEORGE:  No.  I'm saying the costs would be essentially the same of that smaller compressor.  I don't have all of the specifics, but it would be very close.  The cost difference is less than $5 million.

MR. QUINN:  And, again, we don't have a frame of reference for what that is in percentage terms.  So I will --


MS. GEORGE:  The cost of this project for Dawn H is $249.9 million.  And the difference would be less than $5 million.

MR. QUINN:  Okay.  I'm sorry.  So you're not saying $5 million on the compressor costs; you're saying on the project costs.

MS. GEORGE:  That's right.

MR. QUINN:  Okay.  Thank you.  So if I understand it correctly, though, by -- and this was something I may be rehashing a little bit what I heard from Mr. Redford, but we have Mr. Wallace here in terms of the Dawn-Parkway system.

By putting in the larger proposed plant H, we do have incremental unutilized horsepower.  That's sufficient --


MR. WALLACE:  We do have incremental horsepower; that's correct.

MR. QUINN:  Thank you.  So is there anything that can be done -- going the other way -- in terms of saying what is the Dawn-Parkway system shortfall if Union adds the proposed plant -- proposed Lobo and Bright units, but does only put in the 2.3 PJ compressor?  So, in other words, if you size only for the incremental load, does it affect the costs for proposed Lobo and Bright units?

MS. GEORGE:  No.

MR. QUINN:  Okay.  I am just trying to check my understanding of what was said this morning.

So, again, said differently, the move -- actually, I was going to move us away from down -- Dawn down to the Parkway system, but I think I have got to camp on Dawn, because I've got to go back to VECC 1.

We discussed this briefly this morning, and I decided to go into more detail here.  I was trying to get an understanding of the -- Union's ability to serve all of its contractual and in-franchise requirements under different scenarios, and VECC 1 asked this morning about your experience from last winter without plant B.

And for the first time I heard -- and it is not in evidence, I guess, specifically -- that Union was supplementing with a spare unit plant G.  Is that correct?

MR. LAMOUREUX:  The LCU, you mean?

MR. QUINN:  Sorry?

MR. LAMOUREUX:  G is the LCU unit designation at Dawn.

MR. QUINN:  And where is it placed relative to -- because what is missing from BOMA 9, the simple schematic we've referred to a number of times this morning, we don't see where plant B used to be.

Where is plant G situated?  And what does it provide backup for?

MR. LAMOUREUX:  So G has the ability to back up any storage or transmission unit at Dawn.

MR. QUINN:  So B, currently B through --


MR. LAMOUREUX:  All units at Dawn can be backed up by G.

MR. QUINN:  So don't you in essence already have a spare compressor at Dawn?

MR. LAMOUREUX:  That was the discussion earlier about the difference between the spare engine and LCU, in terms of compressor.

MR. QUINN:  Okay.  I might have missed part of that, so I will have to look in the transcript.  I know Dr. Higgin was following that line of questions.  I won't go back over it.

So getting back to a question I asked this morning then.  Storage levels in the third bullet was deemed to be one of the reasons why you were able to get through without plant B.  And my question was this morning:  Does an increase or a higher level of -- storage being more full, does that then increase your ability to exceed what is now the Dawn yard pressure, the design Dawn yard pressure?

MR. WALLACE:  So storage being at a fuller level than you would expect on design day basically means you don't require as much horsepower at Dawn to compress -- to lift that pressure up to the transmission level.

MR. QUINN:  But if you kept -- and maybe it would be helpful -- I hope we don't have to flip back and forth too much, but if we bring up BOMA 9, Mr. Wallace, you might be able to provide clarity that I was missing this morning.

Yes, the attachment.  Thanks, Mr. Gagner.

We used that 4,826 as kind of the design Dawn yard pressure.  It is a different number today, I understand; correct?

MR. WALLACE:  I don't believe so.  4,826 out of 700 pounds, which is what all of the other pipelines coming into Dawn deliver to.  It is our Dawn yard pressure, our base Dawn yard pressure.

MR. QUINN:  Okay.  I am trying to understand your answer in context.  So if it is 700 pounds -- we will use pounds, because some of us are bilingual between the Imperial and the metric.  But at 700 pounds, you are saying you are going to reduce the horsepower utilized out of compressors C, D, and I; correct?

MR. WALLACE:  So C, D, and I are shown in here as pumping Union's storage at low levels, low pressure levels, low volumes of storage, up to the 700-pound yard pressure level.  Insofar as storage is at a higher level, some of that compression might not be necessary.

MR. QUINN:  So your target is 700 independent of your storage level?

MR. WALLACE:  Our base yard pressure is 700.  So those units pump storage gas to C, D, and I, storage gas to the 700-pound level, and then the other units shown there, J, E, F, and will be H, will pump that gas up to the transmission discharge level, 894, or 6,160 KPA.

MR. QUINN:  So if 700 is a constant, how do higher storage levels promote more capacity capability out of the Dawn -- down the Dawn-Parkway system?

MR. WALLACE:  So, I mean, we have -- different storage pools have different -- we call P-MOPS or different pressures that they can store at.  And some of those are even higher than the Dawn-Parkway transmission system MOP.  So if you have a high enough storage level, you can withdraw right from storage and not go through any compression.

MR. QUINN:  And that lowers your compressing cost, but are you saying -- does that contribute to more capability to push gas out of the Dawn-Parkway system on a day where your plant B is not operating?

MR. WALLACE:  I think that is what we're answering in the first bullet point of VECC 1(a) -- sorry, not the first bullet point.  The third bullet point of VECC 1(a) is that we had higher storage levels than we would normally forecast at design-day levels, so, therefore, we didn't require as much compression, in the sense that -- essence that we didn't have that compression because plant B was out.  Thankfully we didn't require that compression.

MR. QUINN:  So if we were to put plant B on this picture, where would it go?

MR. WALLACE:  H is replacing B, so B would go where H is.

MR. QUINN:  So -- but I thought I heard that plant B provided both transmission and storage capability?

MR. WALLACE:  On a design day, which this schematic depicts a design day, plant B is used solely for transmission purposes.

MR. QUINN:  Okay.  Now I understand the differentiation.  Okay.

I think I got the answer to the first bullet this morning.  Okay.  Yes, we took an undertaking for the first bullet this morning.

Then I am going to start moving us down the Dawn-to-Parkway system.  I think if we start with FRPO 13, page 2 of 32 -- if you don't mind going to page 1, Mr. Gagner, I brought out the schematics also -- sorry, the questions.

Up above, in the questions, we had asked for you to rerun the model, which you have done under the different scenarios, and we appreciate that.  But we asked for the pressure at each lateral, and we received the pressure at the compression stations.  Since you have done the simulations already, could you enhance that picture or put a separate table to provide the pressures at each of the laterals?

MR. WALLACE:  I guess maybe you could help me understand the basis on which that request is being made.

MR. QUINN:  I am making the request based upon reconciling your current operations to that which were provided in the combined GTA proceeding Mr. Smith referred to, 2013-0074, combined with Enbridge's proceeding.

You provided information to help us understand how you're operating your system under design conditions, and, at that time, we had an understanding.  And in this case, we are asking for the pressures which, I understand, have to come -- to be able to do the scenario, you have an output of pressures also.  So I think it is just a matter of getting the pressures into a table.

MR. SMITH:  I'm not sure I understand what you are talking about, Mr. Quinn.

MR. QUINN:  What we're trying to do is understand the operation of the system.  I am going to get to our questions about the more -- the changing flows on the Dawn-to-Parkway system.  I want to understand the pressures that were the result of the scenarios that were run.

So, in attachments 1 and 2, you have run the scenarios.  You provided the flows, the system capacity in total, and the pressures and the section discharge pressures of the compressors, but not the pressures of the laterals.  We are specifically interested in the pressures of the laterals, which is part of the run.

MR. SMITH:  Why?

MR. QUINN:  So we understand the system operation, Mr. Smith, the system operation that, in our view, is changing the result of this application --


MR. SMITH:  Why?

MR. QUINN:  -- and changing as a result of flow.

MR. SMITH:  Well, you are going to have to ask more questions relating to this application before I say yes to the question, because it is not apparent to me why it is relevant.

MR. QUINN:  Okay.  I will start asking the questions, and we can come back to it.

Okay.  So, first off, the pressure flowing in from the Dawn compressor station is not on here.  What is the pressure that you are assuming on your peak-design day?

MR. SMITH:  6160 KPAG.

MR. QUINN:  That is from BOMA 9.  I would have guessed that, but I need to get confirmation.  That is a simple point, Mr. Smith.  I am trying to understand the pressures that were assumed in the scenario analysis.

MS. GEORGE:  That number is included in tab 8.

MR. QUINN:  Sorry, Ms. George.  I don’t want to go back and forth through the evidence, because I want to respect people's time here.

MR. SMITH:  Well, we're not going to do undertakings to answer questions that are already reflected in the pre-filed evidence, Mr. Quinn.  So I think, if the witness is going to refer to the pre-filed evidence, I think it is entirely appropriate for her to do so.

MR. QUINN:  I think she was telling me it was already there, and I should have seen it.  I understand 6160 is in BOMA 9, but on this scenario analysis, I wasn't sure what was used.  That is why I am trying to get a point of reference as to what were the assumptions that were put into this scenario analysis.

I will move on and come back to my request again.

If we start then and go to FRPO 3, we asked questions in FRPO 3 regarding flows in at Kirkwall -- and if you scroll down just a little further, Mr. Gagner -- thank you -- this is the contracts of M12 contracts that have -- that Union lists in its evidence as 1.3 PJs that can be received at Kirkwall.

Do I have a correct understanding of that table?

MR. WALLACE:  So that table is the Kirkwall to Dawn, Kirkwall to Parkway, and the M12 X contracts.

MR. QUINN:  Sorry, I didn't have it on my screen.  In your evidence, under the reference Exhibit A, tab 5, page 12 -- you can bring it up, if you want.  But I said please break out the 1.3 that you reference in the preamble.  I have captured Union's contracts originating at Kirkwall, Kirkwall to Dawn, Kirkwall to Parkway, and M12X services for firm transportation total 1.3, effective November 1, 2017.  We asked for a breakout.

MR. WALLACE:  Right.

MR. QUINN:  Okay.  Just making sure we're on the same page.  So you have 1.3 that includes M12X?

MR. WALLACE:  Right.

MR. QUINN:  That can be received, but that M12X could be received at Dawn, Parkway, or Kirkwall?

MR. WALLACE:  Correct.

MR. QUINN:  So you do have Kirkwall receipt capacity going toward Dawn of about 0.5, to use the numbers we were using before, and Kirkwall to Parkway, about 0.4.

MR. WALLACE:  Correct.

MR. QUINN:  Okay.  So now these contracts, we asked further on in the -- in the undertaking, sorry, in the interrogatory, in part (d), we asked about what it was assumed at Kirkwall on a peak day.

In the second paragraph of (d), you're talking about Union cannot count on other gas supply at Kirkwall arriving on a design day, and does not include the supply for design-day planning modelling.  So the number is zero?

MR. WALLACE:  So the number that we count on arriving at Kirkwall on a design day is the 442,256 that we reference in the response to (d).  So that is the volumes that flow Kirkwall to Parkway, M12, as well as Union's supply, which I believe is 21,101 gJs.  The M12X, we consider to flow from Dawn to Parkway as the worst case scenario on the system.

MR. QUINN:  I am looking at the second sentence, sir, and maybe I have lost context, but you've got 21,000 that you are counting on Union providing.

But you are also counting on, then, the 421 that is in there as flow into Kirkwall.

MR. WALLACE:  Kirkwall to Parkway, yes.

MR. QUINN:  That goes into Kirkwall to Parkway.  So you have combined basically the easterly contracts with Union's commitment of 21,000 on behalf of the system supply.

MR. WALLACE:  Union's gas supply that we control, yes.

MR. QUINN:  Okay.  So for the basis of these models, I don't see -- is that what is presented in the attachments that are in FRPO 13?  Are you assuming a total of approximately 442,000 gJs coming in at Kirkwall?

MR. WALLACE:  Yes.  In addition -- in addition to the 100 that you asked to be shifted there in FRPO 13.  That does show up in the centre of the page, so to speak.  It is hard to point at it.

MR. QUINN:  I am not finding it myself.

MR. WALLACE:  542,256 is the 100 you had asked us for in the scenario plus 442,256.

MR. QUINN:  Okay.  That is helpful.  Thank you.

So Union is counting on that 442 now.  And so Union will, going forward, as Kirkwall to Parkway specific contracts increase, you will take that into account in your design for the Dawn-to-Parkway system moving forward?

MR. WALLACE:  Yes, that's correct.

MR. QUINN:  Okay.  And what, in your view, is the main constraint right now between Kirkwall and Parkway in increasing that from a facilities point of view, increasing the capability from a facilities point of view?

MR. WALLACE:  I don't believe we're constrained from a facilities point of view between Kirkwall and Parkway at this point in time.

MR. QUINN:  If somebody were to arrive and ask for an extra 100,000 at Parkway, what would be the next leg -- sorry, from Kirkwall to Parkway, what would be the next leg that you would have to build?

[Witness panel confers]


MR. WALLACE:  I am trying to be helpful here, but I don't think -- we haven't looked at that analysis yet of additional Kirkwall-to-Parkway volumes.

MR. QUINN:  Well, let's go back to Exhibit A, tab 8, page 11.  You had the alternatives up.  Oh, just past.  It was actually 10.  That is my mistake.

So these are the alternatives you considered here.  If I am reading this properly, you've got -- the bottom two alternatives are Kirkwall to Hamilton or Milton to Parkway.

MR. WALLACE:  Sorry.  Page 11, are you at on the --


MR. QUINN:  Page 10 --


MR. WALLACE:  Sorry, page 10.

MR. QUINN:  I wrote it down incorrectly when I was trying to capture it before.

MR. WALLACE:  Yes.  Those are facilities that we considered as the basis of building our alternatives, yes.

MR. QUINN:  Okay.  So if you needed an additional 100, it would be one of those two likelies that, if you had needed additional 100,000 gJs between Kirkwall and Parkway, those would be the two prime candidates for alternatives of the next leg you would build?

MR. WALLACE:  I can't say that for certain.

MR. QUINN:  Okay.  Would you undertake to look at that just so we have some clarity in terms of how you are looking at these alternatives?

MR. SMITH:  So I have some clarity --


MR. QUINN:  Yes.

MR. SMITH:  -- can you help me with the premise of the proposition that there is an additional request for 100,000 gJs of capacity flowing from Kirkwall to Parkway and where I would find that in the evidence?

MR. QUINN:  This morning -- and I don't have the evidentiary reference, Mr. Smith -- Mr. Redford said that they had inquiry of additional gas that they were considering for 2018 build.  We have asked questions -- it is pretty clear.  We're looking to see how, over time, Union is mitigating the risk of rebuild -- or, sorry, of overbuild if there is any kind of turnback of capacity.

There is obviously a 2017 build application in front of us.  There has been reference to the potential for 2018 build in a couple of places in your evidence.  And we're just saying, with a round number of 100, what would that look like?  And how is that going to be mitigated potentially going forward as we consider what our position would be on the 2017 build?

MR. SMITH:  Well, I don't think that is a fair summary of Mr. Redford's evidence.  What he did say is that there will be an open season later this year for 2018, and the results of that won't be known until sometime next year.  That was what Mr. Redford had said.

MR. QUINN:  What I am trying to understand, Mr. Smith, because we have gone down this road before, in the 2013-0074, the broad proceeding, we had asked why Union was building Brantford to Kirkwall and not Kirkwall east.

It continues to be -- drop down to the bottom of the list on alternatives, and I am trying to understand, if there are increasing flows between Kirkwall and Parkway, why the build is happening west of Kirkwall.

MR. SMITH:  Well, why don't you just ask that question?  And the proposition -- the premise underpinning your question that Union brought forward the wrong alternatives at the time, that was either an argument you could have made at the time, or my recollection is you did make that argument, and the Board disagreed with you.

MR. QUINN:  Yes.

MR. SMITH:  Why don't you ask the question directly of Mr. Wallace as to why this alternative as opposed to those alternatives?

MR. QUINN:  Okay.  I tried to ask it from a cost capacity, and to clarify, I did not propose it at the time.  We supported Union's build as a result of the evidence that was in front of us.

We're trying to get evidence in front of us again, and I'm trying to understand why those legs of the Dawn-to-Parkway system, which seem to be more in demand, seem not to be being built.

So I ask cost per capacity, utilization, Mr. Wallace.  Take Mr. Smith's cue; tell me why it is that those alternatives 7 and 8 continue not to be rising to the top of your list.

MR. WALLACE:  So I will say that, of the demand regime that we were able to contract for, the 85 roughly TJs of Kirkwall to Parkway, that was paired with 362 TJs of Parkway to -- sorry, Dawn to Parkway, which, you know, had a heavier weighting on the facilities that were recommended from a hydraulic perspective.

The Kirkwall to Hamilton, the Milton to Parkway sections of pipeline are very small sections of pipeline. Just for scale purposes, they're roughly half the length of a Hamilton to Milton.  And so you don't get as much capacity necessarily with those particular builds.

So just generally speaking, I don't have numbers to support this off the top of my head, but they may struggle from a cost per capacity basis to come out on top.

But at some point, the constraint will shift, and that's what we address with these builds is where the bottleneck, so to speak, or constraint is.  The constraint will shift to that location and will be -- you know, we would presumably be bringing forth a project to build those sections of pipeline.

MR. QUINN:  Well, would you agree with me that, to the extent that additional gas is flowing from Niagara through ultimately to Parkway, the demand for that corridor would increase, and that would potentially, as you say, shift the need for facilities to the east end?

MR. WALLACE:  Whether the gas is coming from Dawn or Kirkwall, it has to go through that corridor.

MR. QUINN:  Correct.  And if it does not have to flow through Dawn to Parkway, if it does not have to go from Dawn to Kirkwall, you get better bang for your buck in terms of capacity for cost, by going east of Kirkwall?

MR. WALLACE:  That's a lot of calculations to do in my head.  Obviously Kirkwall-to-Parkway volumes do not require as much Dawn-to-Parkway capacity, so to speak.

MR. QUINN:  Okay.  Now that I have created some background or premise, do you have those capacity or costs that were done for Kirkwall -- for items 7 and 8 on that list that we could see as a point of reference for the project you are doing?

MR. WALLACE:  So they are included in the third alternative on table 8-3.

MR. QUINN:  Combined with?

MR. WALLACE:  Kirkwall to Hamilton, Milton-Parkway, again, an attempt to provide enough capacity to approach the incremental demand, we had to put in both sections of pipeline in addition to Dawn H and Lobo D compressors.

MR. QUINN:  Okay.  What I was trying to understand -- and I guess you can see them in aggregate here -- is the cost of the incremental components, because, in our view, if you are going to get incremental demand, you build incrementally, and these are small portions that could be used.

MR. SMITH:  I'm not sure what to say, Mr. Quinn.  I'm not quite sure I understand the --


MR. QUINN:  I was trying to --


MR. SMITH:  -- that Kirkwall-to-Hamilton and Milton-to-Parkway pipelines were considered as part of the third alternative, and they have the lowest additional capacity and the highest capital costs and the highest cost per unit.  So I am sure you can see that on the chart.

So just help me.  What is the specific question that we are missing now?

MR. QUINN:  What I was trying to ask is the individual sections and what was the combined sections.  If we take out Dawn H, which is common to all three, we can probably work backwards to the respective capital costs per capacity.  I was just trying to get them individualized so we had an understanding for the future of what may be available in terms of building incrementally, because these are smaller sections.

MR. WALLACE:  Yeah.  So, I mean, future builds are based on future demands and future costs.  So I am not sure, even if you had a breakdown in cost per capacity here, it would be beneficial or help you out in any way of predicting what the cost per capacity may be on our future builds.

MR. QUINN:  Well, I had a frame of reference back from that previously-mentioned proceeding where that cost was broken out for us individually, but I will defer at this point, because I understand there's some resistance to answering the questions at this point.  We're trying to look to the future, because we have some discussions about risk mitigation moving forward on Dawn-Parkway, and we're trying to understand the options that Union was considering, but I will leave it at that for now.

I am just going through my laundry list, Mr. Millar.  I am almost wrapped up here.  I just wanted to make sure I didn't miss anything with the reformatting today.

Oh, there was a question deferred from this morning.  I asked Mr. Redford about a conversion factor from Dawn-Kirkwall to Dawn to Parkway.  It was in conjunction with turn-back that was done by Keyspan, and he says there is a conversion, but I’d best ask you.

MR. WALLACE:  Yes, there is an equivalency, but it's situation-based.  There is not a sort of mathematical quick rule of thumb.  It would be based on the scenario, and we would have to look at that.

MR. QUESNELLE:  For November 2015, Keyspan turned back – if my recollection serves -- around 139,000 gJs of Dawn to Kirkwall capacity.  If it is situation-based, by way of undertaking, can you provide the conversion as to what Dawn-to-Parkway capacity that created?

MR. WALLACE:  That is probably on -- that is probably on record from our 2015 or 2016 application, because we would have considered the turnback at that point in time.

MR. QUINN:  If you give us a reference from the previous proceeding, I am satisfied with that.  I thought Mr. Redford referred to conversion, and I understand it is at a point in time, but it still gives us a rule of thumb as to that conversion.  So if you could either give us a reference or an undertaking to give us a reference, or give us a calculation for today.  You can choose.

MR. SMITH:  I think it doesn't -- I think the witness said it doesn't give you a rule of thumb, but we are happy to give you the reference.

MR. QUINN:  Fair enough.

MR. MILLAR:  JT1.11.
UNDERTAKING NO. JT1.11:  TO PROVIDE THE REFERENCE WHERE THE CONVERSION WAS GIVEN AS TO WHAT DAWN-TO-PARKWAY CAPACITY WAS CREATED

MR. QUINN:  And the other one that I started the discussion with, Mr. Sloan.  We talked about the need for facilities and what was deemed in the ICF report which we brought up this morning about the increased electricity generation from natural gas.

To this panel:  Were there incremental volumes in this build that are associated with natural gas generation?  I believe the answer is yes.  I just don't have the number in front of me for the -- TransCanada Energy was listed as one of the shippers.

MR. WALLACE:  What tab was that under?

MR. QUINN:  What I am trying to do, Mr. Wallace, is separate increased utilization from new plants.  So new plant, there was one shipper, I believe.

MR. WALLACE:  You know what?  So table 6-2, tab 6, page 4 has the parties, the shippers that signed up for capacity on Dawn to Parkway.  I don't know their businesses well enough to say what exactly they're utilizing this capacity for.  I mean, that would be Jim more so that would have the answer, Mr. Redford.

MR. QUINN:  Okay.  And I think maybe I assumed some things in terms of who TransCanada Energy is.  But to the extent there is a new plant you build for new demand that would be in place during your design-day scenarios, to the extent that you have increased utilization from existing plants, would you agree with me that they do not create the need for additional facilities?

MR. WALLACE:  I mean, for us, it all relates to what they have contracted for.

MR. QUINN:  Right.  So it is the contracting level, not the utilization of that contract?

MR. SMITH:  I think the answer is what Mr. Sloan said before.  If you've contracted for the capacity of your plant, then the answer may be no.  If you haven't contracted for the capacity of your plant and you are using more capacity at your plant and you require more gas to meet that increased capacity, the answer would be different.

MR. QUINN:  That is an increased contract.  If you're contracting for that gas or if you are buying for a third party, they already have a contract from which they're delivering.  I am trying to get clarity in the fact that separating the issue of new plant versus increased utilization of an existing plant.

MR. WALLACE:  Yes, I mean --


MR. SMITH:  I'm not sure we can help you more than the answer we have already given, unless I am completely misunderstanding the question.

MR. QUINN:  What you said is that they needed additional gas in the plant, for which they would have to buy from a third party who likely has capacity already on Union's system that can provide the gas.

MR. SMITH:  That is not quite right.  What I said was, if they have contracted for Union -- from Union for the capacity they need to run their plant at full capacity, then the answer would be no.  If they haven't, then the answer may be different.  I don't know.  We don't know whether they have contracted with somebody else for gas.

MR. QUINN:  In a scenario where what Mr. Smith has said, the company has not contracted for all of its needs and turns to a third party for that service, would it be reasonable to assume that that third party has capacity on your system?

MR. SMITH:  Sorry, Mr. Quinn, is there a specific fact scenario that you would like us to consider?  I mean, I don't think this has to be a mystery.  If there is a contract or a customer you want us to ask about and we can ask Mr. Redford, I am happy to do that.  I just feel like I am -- we're dealing with shadows here.

MR. QUINN:  Well, we don't want to be dealing with shadows.  That is why we're trying to create clarity.

The fact is that, in your evidence, you have talked about the increased need for facilities because of power generation from natural gas.  I am separating the two facets of it, new plants versus increased utilization, and that seems to be where the grain is being added to, because I am saying --


MR. SMITH:  Is your question simply to please ask Mr. Redford whether TransCanada Energy's contract, to Union's knowledge, is directed at a new gas-fired plant or to increase the contract for an existing gas-fired plant?  Is that the question?

MR. QUINN:  That's a facet of the question.  If you will answer that, that would --


MR. SMITH:  What is the other facet of the question?

MR. QUINN:  The other facet is you've got existing plants that you are -- the existing plants in Ontario that have contracts with Union, to the extent that those plants are increasing in their utilization but not adding to their plant, that doesn't drive additional demand for facilities on your system.  Is that not correct?

MR. SMITH:  But the demands that we're talking about in this application are the 452,911.

So the only customer there -- maybe we could ask about DTE, but I don't think so.  The only customer that would appear to meet this would be TransCanada Energy, but we can ask whether the other customers are contracting, to our knowledge, to serve an existing gas-fired plant or to increase capacity to an existing gas-fired plant.  We certainly could do that.

MR. QUINN:  I will accept that as what Union will offer at this point.

MR. SMITH:  Okay.

MR. MILLAR:  JT1.12.
UNDERTAKING NO. JT1.12:  TO ASK WHETHER THE OTHER CUSTOMERS ARE CONTRACTING, TO UNION'S KNOWLEDGE, TO SERVE AN EXISTING GAS-FIRED PLANT OR TO INCREASE CAPACITY TO AN EXISTING GAS FIRED PLANT

MR. QUINN:  I won't take people's time getting into a debate with counsel.  I appreciate the panel's response to our questions, and we will leave it at that for now.  Thank you, Mr. Millar.

MR. MILLAR:  Thank you, Mr. Quinn.  Does anyone else have questions for this panel?

Okay.  Thank you.  That concludes the technical conference.  I believe the next step is a settlement conference scheduled for the 20th and 21st.

We are adjourned.
--- Whereupon the conference concluded at 3:20 p.m.
87

